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Question Number : 1 Question Id : 64635010033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options:

645350394593, 1
EAEISE029500 2
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Question Number : 1 Question Id : 64635010033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ftatiad § § %19 = A=l sl ST =eEa 8 7

(1)  Hae TAETH = I (2) T=ra g
(3)  TIASITHF oA T (4) T H I F W FEG F H TAE
Options:

645350394593, 1
54535033500, 2
64535033501, 2
54535033502, 4

Question Number : 2 Question Id : 64635010034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which is the characteristic of formative evaluation?

(1) Evaluation cecurs at the terminal point
(2} Evaluation 15 used before programme design
(3) Evaluation relates to indicating learning outeome of teaching
(4) Evaluation is conducted during teaching
Options:
645350338503, 1
54535033504, 2
B4E35039505. 3
E4635039506. 4

Question Number : 2 Question Id : 64635010034 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt & 9 =1 TR e = e g
(1)  HeATeA T3 T 3 2

(2)  HEATHA, FTEFA TR FE ® TR TR e 3
(3)  HraTeA, Tgm w1 it iy #Yi=a #9 § aeaead g g
(4)  ToATHA T = U T S )
Options:

54535039503, 1

54535039504 2

54535033505 3

54535033506, 4

Question Number : 3 Question Id : 64635010035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Eilpatrick
2y Frrnahal Ay Fdoar Thialae
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64535039507, 1 Your Personal Exams Guid
64535033508, 2
54535033503, 3
B4E35039510. 4

Question Number : 3 Question Id : 64635010035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TRTg™ AATeT | WA AT T o TR e TR

(1) = gEt (2) TFetleH
(3) wEw (4) TSR =4
Options:

64535039507, 1
54535033508, 2
645350338503, 3
54535033510, 4

Question Number : 4 Question Id : 64635010036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role plaving, simulation and self-evaluation as strategies for
adult learners 1s known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

B4635039511. 1
B4635039512. 2
645350339513, 3
64535039514 4

Question Number : 4 Question Id : 64635010036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T AT G TAEH e AR g9 TGl FT H Qe NEEE, ST AN - 5
3741 Toear =ran 2, FetafEd § | F41 Fgara 27

(1)  Tgmems (2) Tgrst
(3)  FEEE (4) A=A
Options:

545350339511, 1
54535033512 2
B4E35039513. 3
B4635039514. 4

Question Number : 5 Question Id : 64635010037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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{1) Recalling

(3) Identifving important sensory mputs (4) Believing what is true

{2) Problem solving

Options:
64535039515 1

BdE35039516. 2
B4635039517. 3
5453503395158, 4

Question Number : 5 Question Id : 64635010037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fttaa | o =9 5 ATl = TR-TaTereT e 27

(1) TR

(3)  HEETH Heldl AFTE = TE=H FAT

(2) HHET THTEH

(4) T H fagamm #=4
Options:

54635039515, 1

64635039516, 2

64535033517, 2
B48350385158. 4

Question Number : 6 Question Id : 64635010038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
(2) Intervention based action research
(3) Phenomenalogical and narrative research
(4) Case study research

Options:

645350359513, 1
54535033520, 2
B4E35039521. 3
B4635039522. 4

Question Number : 6 Question Id : 64635010038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  WAMTeH AT FATead I
(2) T ATaTiE AT e
(3) T g faEe A g T Iy
(4) =% A=IH MY
Options:
64635039519, 1
c40z35039520 2
64c35039521. 3
64035039522 4

Question Number : 7 Question Id : 64635010039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cyecle?

(1) Reflect, act, plan and observe {2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act (4) Act, plan, observe and reflect
Options:

54535039523, 1
64535039524, 2
64535033525, 2
B4E35038526. 4

Question Number : 7 Question Id : 64635010039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FtatEa § 5 +19 91 R 39==1 GRaTeT+ oY =% & 931 =7 27

(1) =, feari=ata, a3 Aa=ade- (2)  Fr=N, TRATI=TT, e A =
(3)  FAFAHA, Tr=F1, F=aa A Tt (4) TeFari=ta, o=, = AR =

Options:

64535039523 1
64535039524 2
64635039525 2
64635039526 4

Question Number : 8 Question Id : 64635010040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

(1) Avolds positivist assumptions and data analysis
(2) Subsecribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
64535039527 1
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Question Number : 8 Question Id : 64635010040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fTierd | 9 =4 =1 o I o 9 e 27
(1) fagTTes @igaE 1 20 =T = 7iEn = 2|
(2) & fa=mme 4fra | Tenfy =1 %44 3
(3) HEATHF EUH FS! H HUg A A
(4)  Ward Taveiyw = AT =Y ITE0 = g
Options:
45350395271
4535039528 2
4525039529 3
46250395320 4

Question Number : 9 Question Id : 64635010041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
(1) Subjective analysis of the content
{2) Provides mformation about the authors and their affilations
(3) Generates research questions and validating those questions
i(4) Conducts multiple task based screening

Options:

54635039521 1

54635039522 2

54535039533, 3

54535039534 4

Question Number : 9 Question Id : 64635010041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tg-aTieed i TF A= FHET T Seggd o B

(1)  Taor=mg = =5fFafass fagerm =)

(2)  EFH TN I FEG] o A7 H g HEH |
(3) TG WA I G A A S T
(4)  TE—Hd ;G T F

Options:

64635039531, 1

£4635039532. 2

64635039533, 3

64635039534, 4

Question Number : 10 Question Id : 64635010042 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications ’repp
will it carry for his/her principal research hypothesis? Your personal Exams Guide

(1) Accepting the research hypothesis
(2) Hejecting the research hypothesis
(3 Not taking any decision on the research hypothesis
(4) Improving the research hypothesis
Options:
54635039535, 1
54635039536, 2
54635039537, 3
54635039538, 4

Question Number : 10 Question Id : 64635010042 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T T AT TG T I T IR F § he T §) I O T T o T
3 1 ffear e
(1) 09 T TR o
(2) Y TS AR A
(3) MY TR TR T A o
(4) TG TiEReT ° HEW )

Options:

64535039535 1

4535039536, 2

64535039527, 2

64635039538 4

Sub-Section Number: 2
Sub-Section 1d: 646350476
Question Shuffling Allowed : Yes

Question Id : 64635010043 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (11 to 15)
Cnaesticn Label © Comprehiension
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There 15 a common thread running through the unraveling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of youth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be eritical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical commission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635010044 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3 Unravelling of statistical system
(4) Selective distribution of data
Options:

54635039539 1

£4635039540. 2

£4635039541. 3

54635039542, 4

Question Number : 12 Question Id : 64635010045 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4y Establishment of national nstitutions
Options:

64535039543, 1
54535033544 =
BdE35039545. 3
B4635039546. 4

Question Number : 13 Question Id : 64635010046 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the work of National Statistical Commission?

(1) Esztablishing standards (2) Questioning data veracity
(3) Questioning official narrative (4) Supporting the public perception

Options:
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54535033550, 4

Question Number : 14 Question 1d : 64635010047 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the guality of national policies be improved?

(1) By Living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) Bv enhanced operational freedom
Options:
54535039551 1
B4E535039552. 2
54535039553 3
£4535039554. 4

Question Number : 15 Question 1d : 64635010048 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veracity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

54535039555, 1

54535039556, 2

54535033557, 3

54535033558, 4

Question Id : 64635010043 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (11to 15)
Cnaestion Label @ Comprehension
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Fefertam e i sargE wen Hi wwE % e g prepp

AT 1 TETs6 TITET o TEaaTe ¥ U - o Aafadse 2| goe T arel -+
FefsmEme 1 fomram =7 w1 2 T oo favand atwe oog w =l R 9 2| o= ddtes T+
fore sfgenawioe aam S AEgEET gl @ AN e 1 mem % gag Few geE foEr s gt
T | JAHT 1 AEF T A o ° T o et e o %, 3=, @, e on
TS =Y g &6 o Hara ik Heead 5 | agl ' et = o o nien e T e, v
TTEEE] TG AT o] TF 2T 2| Rel 1 Teaal T Teg 40 UF Avas T 2| =i a#0e
T AT S WO G T ey 5O TRA ST 2| S T % w Gegid 7t #7497 g, 39 7
AfdF AFg 1 5 gHTET 4 + Tom g7 e 2| e 1 F T Afaa e i
T &9 T WHCR RO | ST 1 Fad TEaeh! a5 e +1 ge F T80l T T F#
wWoTd T 1 S TET AN 3% 9N TSl O w=E Se| HEE T Wilhdl 3 s i
T STl | ST o Tl SR U O S A 9 ¢ 3 i T W Ay
S WL, =7 A o A7 g w|
Sub questions

Question Number : 11 Question 1d : 64635010044 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ IR o a0 1 Ag gy 27
(1) T FHEE fa=
(2) Ty wiwel # =l R =
(3)  HITST=HA JUTHT 1 TP
(4)  AlFs! F TFATHF a0

Options:

45350395329 1
54535039540 2
64635039541, 2
64535039542 4

Question Number : 12 Question Id : 64635010045 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) T S (2) T fa=
(3) sl =+ FeAd o Oag, (4) TS AT T
Options:

64535039543, 1
645350339544 =
54535033545 3
B4535039546. 4

Question Number : 13 Question Id : 64635010046 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T HIETR AT = 47 1 27 ’repp
(1) AT i = (2) FATwsl = Toadl T Hag F1
(3)  ATHFIE 99041 T Hag (4) ETO S HHLA F

Options:

B4E35039547. 1
B4635039548. 2
64535039543, 3
64535038550, 4

Question Number : 14 Question 1d : 64635010047 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

RS ATl = e R YR R S 5 27

(1) = TR T AT
(2) 979 TLAET 1 HEA FLE|
(3)  TETTo HETAT WA

(4) A= TFITEF Eaaa 95 w4
Options:
45350395511
64z35039552 2
64-35039553 3
64035039554 4

Question Number : 15 Question Id : 64635010048 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ITF TR § TS WIS FAI H Aad: 47 g T6d1 T 2 7

(1)  =ifama Fori @ giaes =

(2)  ATHS! H Toaal = T FTHF A= T

(3)  ATHS TFET Fasl F Tad w67

(4) T G ° T 7 e w4
Options:
6403503955501
64-35039556 2
64035039557 3
64535039558 4

Sub-Section Number: 3
Sub-Section 1d: 646350477
Question Shuffling Allowed : Yes

Quesnon Number 16 Queﬂlon Id 64635010049 Questlon Type MCQ Option Shuffling: No Display Question Number : Ye

~ 1 e n ey e L e e ge
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Correct Marks: 2 Wrong Marks: 0 Prepp
Assertion (A) : The correlation funection of mass media is vital for any society. Your Persondl Exams Guide
Heasons (R) : The mterpretational aspects that include advertising and public relations

shape and influenece public opinion.
Choose the correct answer from the ecodes given below :
Codes :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 15 not the correct explanation of (A)
(3) {A) is true, but (R) is false
(4) {A) is false, but (R) is true

Options:
4535039559 1

B4E35039560. 2
64535039561, 3
64535033562, 4

Question Number : 16 Question 1d : 64635010049 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AdFE  (A) - T TER T TeEEETeRR T R A e & e Aget v 2

LES (R)- =arEaoi= "ge, T9H T 3 59 99 WS 3, ST S 7F A @ i 3=
yHIET F19 2

dr=r fou o fomre O =6 5o 1 =99 F:

(1) (&)= ®R)EH =8 2 72 (R), (A) F1 FF sa= 2

(2 (A R T 2, Y (R). (A)F T e T R
(3) (A= 2, =g (R) Tem 2

(9 (A)7em g, g (R) =& 2

Options:

4535039559 1
4535039560 2
64635039561, 2
64535039562 4

Question Number : 17 Question Id : 64635010050 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Some of the barriers to effective communication are

(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1) (a) and (b) (2) (b) and ()
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64535039563, 1 Your Personal Exams Guid
645350339564, =
54535033565, 3
E4E35039566. 4

Question Number : 17 Question Id : 64635010050 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
spuTeft HE i A aerd #)
(2)  wF-FEA
(b) T AT
(c)  Tiszifea =1 30T
(d) =TT S ATHE AT

A= o U F2 | WE e o =9 w1

(1) () # (b) (2) (o) 3N (o)
(3)  (c) I (d) (4) (2) N (o)
Options:

64535038563, 1
64535033564, Z
B4E35038565. 3
B4635039566. 4

Question Number : 18 Question Id : 64635010051 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxzurious ambience
{3) Extrapolation of contents
(4) MNew forms of expression and applications
Options:
E4E835039567. 1
546535033568, 2
B4E535039569. 3
54535033570, 4

Question Number : 18 Question 1d : 64635010051 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  FAIHIF ATE+F

(2)  ATTHETF T

(3) TawEg . =g

(4)  AhipEEiFadl F AT F 0 ET

Options:
64535039567 1

B4E35038568. 2
B4635039563. 3
64535039570, 4

Question Number : 19 Question Id : 64635010052 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development {2) content filtering
(3} personalisation {4y general academic integration
Options:

B4635039571. 1
545350339572, 2
64535038573, 3
54535033574, 4

Question Number : 19 Question Id : 64635010052 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w1 ° Tore fafime s & foe T = 2 fawgasg =71 9im 2

(1) o fawm (2) Tarvaeeg Thwies
(3) AT (4) T AHEF T
Options:

54535039571, 1
BdE35039572. 2
B4635039573. 3
54535039574, 4

Question Number : 20 Question Id : 64635010053 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) mterest, knowledge, evaluation, awareness
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64635039575, 1 prepp

545350339576, 2 Your Personal Exams Guid
54535033577, 3
64535033575, 4

Question Number : 20 Question Id : 64635010053 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FANTT HHIT % deal o q5l #wH 7 -

(1) 9, 34, TeTe, S

(2) ST, ¥4, TeATHA, TH

(3)  TrETEA, AR, TH, W

(4) ==, TH, AT, S
Options:
64535038575, 1
64635039576, 2
B4E350389577. 3
B4635039575. 4

Question Number : 21 Question Id : 64635010054 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

54535039573, 1
645350338580, 2
54535033581, 2
B4E35039582. 4

Question Number : 21 Question Id : 64635010054 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ftatad § 5 HFerar 0 =

JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PEQ
Options:

64535038573, 1
64535033580, 2
545350339581, 3
B4635039582. 4
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Question Number : 22 Question Id : 64635010055 Question Type: MCQ Option Shuffling: No Display Qu&stit’lﬁetppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

If the number 345xy is divisible by 90, then (x + ¥) =7

1 9 (2) 8
3 T 1) 18
Options:

B4635039583. 1
64635039584, 2
645350339585, 3
64535033586, 4

Question Number : 22 Question 1d : 64635010055 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tfe &N 345xy 0T faar=a 2, 9t (x+ y) =2

a 9 (2) s
3 7 4 6
Options:

B4635039583. 1
64635039584, 2
645350339585, 3
64535033586, 4

Question Number : 23 Question 1d : 64635010056 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

645350339587, 1
54535033585, 2
B4E35039583. 3
B4635039530. 4

Question Number : 23 Question Id : 64635010056 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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ST w1 S ATEdr 2l F1 B ?

(1) 1100 Hr= (2) 1125 ™=
(3) 1150 HT= (4) 1200H=
Options:

64535039587, 1
64535039588, 2
54535033583, 3
B4E35039530. 4

Question Number : 24 Question Id : 64635010057 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+5), then what percent of a is b?

(1) 20% {2y 25%
(3 40% {4y 5H0%
Options:

54535039551, 1
645350385392, 2
64535033533, 3
B45350395594. 4

Question Number : 24 Question Id : 64635010057 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e (a—b) 1 60%=40% = (a+b) &, d a F b e uiaem grm ?

(1) 20% (2) 28%
(3) 40% (4) 50%
Options:

645350358591, 1
64535033532, 2
B483503895393. 3
B4635039594. 4

Question Number : 25 Question Id : 64635010058 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 9 years and that for 12 vears?

(1) 3:4 (2 23
(3) 4:3 (4) Data inadequate
Options:

E4EISE0=29595 1
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545350335598, 4

Question Number : 25 Question 1d : 64635010058 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TorRET T3 T 9 99 #1259 = ToU U FHE =47 21 ° AT Hrar =474 1 FI97d F41 57

1)y 3:-4 (2) 2:3
(3 4:3 (4) FATHE JATI 3|
Options:

645350385395, 1
645350335396, Z
B483503895397. 3
B463503953958. 4

Question Number : 26 Question Id : 64635010059 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative {4y Particular negative
Options:

B4E35039593. 1
B4635039600. 2
64535033601, 3
64535033602, 4

Question Number : 26 Question 1d : 64635010059 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘guft mTeTY fevg o T =1 FEE B

(1) =gy faga (2) TEgm ey

(3)  fafime faty (4) Tafime Frg
Options:

64535039593, 1
54535033600, 2
645350339601, 2
54535033602, 4

Question Number : 27 Question Id : 64635010060 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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coneclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

B4E35039603. 1
B4635039604. 2
64535033605, 3
64535033606, 4

Question Number : 27 Question 1d : 64635010060 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frefatias foFm Iieaat § s e o1 ekl = @19 5 594 30 § 97 alihed A-arddl o g 8

(1)  ATHATHS (2) T+
(3) g (4) HIETILAF
Options:

B4835038E03. 1
E4635039604. 2
646350339605, 3
54535033606, 4

Question Number : 28 Question 1d : 64635010061 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A Who is to the right of C?

(1) A (2) B
(3) D (4) E
Options:

64535039607, 1
64535033608, =
54535033603, 3
B4E35039610. 4

Question Number : 28 Question Id : 64635010061 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
JEfiTA B.C D, EdR FuFdeaa d Sl AN @I gU A6 3 E, D ardf AL 3 C, A 3R+
FAH 2 FEFRAFTIE 3 CHadf ARFAE?

(1) A Z) B
@ D 4 E
Options:

E4E350329807. 1

A i p—— i p— - — -



www.prepp.in

64635039609, 3 prepp

64635@3'96 1 |:| 4 Your Personal Exams Guide

Question Number : 29 Question Id : 64635010062 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference {anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term
(2) mvariable relation between middle term and minor term
(3) variable concomitance between middle term and major term
(4) mvariable concomitance between middle term and major term
Options:
B45350389611. 1
B4635039612. 2

64535039613, 3
645350339614, 4

Question Number : 29 Question 1d : 64635010062 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
S FeREe § A9 F 0F 7

(1) T 75 I O 15 F o= Tl 5ay
(2)  TOEIFAl T, TS & wF ATEG qET
(3) WAl Te M HEA TS = Al T dgaiddl
(4) I Tg AN OE TS S AEd ggatddl
Options:
64c35039611. 1
64035039612 2

645350339613, 3
645350339614 4

Question Number : 30 Question Id : 64635010063 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A B, C D, E and F are six members in a family in which there are two married couples.
E, a teacher 1s married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A_ A has one son and one grandson. Of the two married ladies one 1s a8 housewife. There 1s
also one student and one male engineer in the family. How 1s A related to C?

(1) Grandfather {2) Mother
(3) Sister (4) Grandmother
Options:

64535039615, 1
645350339616, 2
645350339617, 2
545350339615, 4
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Question Number : 30 Question Id : 64635010063 Question Type: MCQ Option Shuffling: No Display Questitplﬁetppe
Single Line Question Option : No Option Orientation : Vertical .

Correct Marks: 2 WrongMarks: 0

T TiER § A, B, C, D, E 3t F 9: 5207 oo & 3 faanfea <ufa 31 E <t o foges 3, =01 foeme
TR H I A CARF AN BA TF a2 F AR AR N AF FH IR T2 &
feaTEa Afgen =T O 8 U 01 3| TEW 5 Uk framif o1 0 9 S 9 3| A CH 377 999 77
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(1) & (2) T
3 =5 (4) =
Options:

B4635039615. 1
64635039616, 2
645350339617, 3
645350339615, 4

Sub-Section Number: 4
Sub-Section 1d: 646350478
Question Shuffling Allowed : Yes

Question Id : 64635010064 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (31to 35)
Cnaestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school according to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the questions based on the data contained in the table :

Marks obtained by students

MMarks MNumber of students in
n class interval Section — A Section — B

[0 — 9] 2 4
[10 — 19] 5] 5
[20 — 29] 10 8
[30 — 39] 4 4
[40 — 49] 8 it
[50 — 59] 4 5
[60 — B9 T 5]
[T0 — 79] 5] &

Sub questions

Question Number : 31 Question 1d : 64635010065 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If the pass mark 15 30, what 15 the number of failures in both the sections together?

gLy A5 (2) 35
(3) 16 (4 26
Options:

B4E35039613. 1
B4635039620. 2
545350339621, 3
64535039622, 4
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Question Number : 32 Question Id : 64635010066 Question Type: MCQ Option Shuffling: No Display Qu&stit’lﬁetppe
Single Line Question Option : No Option Orientation : Vertical ‘

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

If the pass mark i1s 40, approximately what 1s the percentage of suecessful students in

Section — B?

(1) 45% (2) 51%
(3) 20% 4y 47%
Options:

B4635039623. 1
64635039624, 2
545350339625, 3
64535039626, 4

Question Number : 33 Question 1d : 64635010067 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4) 6
Options:

54535039627, 1
64535039628, =
E4535039623. 3
E4E35039630. 4

Question Number : 34 Question Id : 64635010068 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

(1) 12 (2) 14
(3 10 (4y 13
Options:

645350339631, 1
54535039632, 2
E4E35039633. 3
64535039634, 4

Question Number : 35 Question Id : 64635010069 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:
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64635039636, 2 prepp
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54535039638, 4

Question Id : 64635010064 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (31to 35)
Cuestion Label - Comprehension

fepAfertiara arfar =t fernferai =t wred ol & FgERiaarag § 3 da A d1 B | fa=nei % fHaam =
T 7| WedE H9E A I B H F9 45 fa=me| §) S § 4 Arel % Aen T Wl 1 39 g

Ty TR 5
TS B A deE—B

[0 — 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 — 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70— 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635010065 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
I FAMF 30 3, T A HeeHl O I ferznierai i Fa g fha 27

1) 43 (2) 35
(3) 16 (4) 26
Options:

64535039613, 1
64535033620, 2
64535039621, 2
E4535033622. 4

Question Number : 32 Question Id : 64635010066 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e, FHF 40 3 HFEE B o 39 5 ITed TSRl o Hiaa o TR 27

(1) 48% (2) 51%
(3) a0% i4) 47%
Options:

54535039623, 1
64535039624, 2
64535033625, 3
RAERSEN=9E 2R 2
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Question Number : 33 Question Id : 64635010067 Question Type: MCQ Option Shuffling: No Display Questicn Nerrmber s e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=

TF9H - A 3 999H - B 41 § Tohad A=l 9 10 9 9 &% wg fu?

(1) 10 2y 11
(3) 12 (4) 6
Options:

64535039627, 1
E4E35033625. 2
B4E35039623. 3
B4635039630. 4

Question Number : 34 Question Id : 64635010068 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HH - A H TR fa=niefai 1 30 a1 @tfa=s o= g 50 § +0 o1 W =0 37

(1) 12 (2) 14
(3) 10 (4) 13
Options:

B4E35039621. 1
B4635039632. 2
545350339633, 3
64535039634, 4

Question Number : 35 Question 1d : 64635010069 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
THIH - A 3 999H - B § Toad feanferal 9 50 97 50 ® 19 3 Wed a7

(1) 23 (2) 43
(3) 32 4y 34
Options:

54535039635 1
EdE35039636. 2
B4635039637. 3
54535033635, 4

Sub-Section Number: 5
Sub-Section Id: 646350479
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635010070 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the ’repp
following statements 1s True? Your Personal Exams Guide

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce :

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee :
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce :
fields

(4) Only the recipients in the Ce : field ean see the other email addresses in the Bee : field

Options:

64535039629 1
64635039640, 2
64635039641 2
64535039642 4

Question Number : 36 Question 1d : 64635010070 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UF = 0o 99 909 To : , Ce : 31T Bee : ivsl § 998 24 o 9949 § FAraiayd =4 § § =9-97 950
37

(1) To:ﬁﬁﬁmﬂee:ﬁﬂe:ﬁﬁﬁﬁﬁ@ﬂﬂﬁﬁﬁﬂﬁi@m%
(2) Cec - %ies § Wreawdl To : 31 Bee : Fieel 4 T9=m= 0a T4 &1 8@ T4 7
(3) Bee - FIeg § Wea=41 To : 31 Ce - Fiesi O =W =09 790 1 <8 T4 21
(4) Ce : ¥ieg § o Wtasdl Bee : Hiesl § A7 30 Td1 o 4@ Td 7
Options:

B4E535039639. 1

64535039640 2

£4535039641. 2

B4E35039642 4

Question Number : 37 Question Id : 64635010071 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A group’s access to digital technology and another group’s lack of aceess to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance i4) Digital divide
Options:

54535039643, 1
645350339644, =
54535033645, 3
B4E3503964E6. 4

Question Number : 37 Question Id : 64635010071 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) ST FEAHS (2) 9 FFEEA
(3)  WEIFERE IHded (4) TEfaea faur=m
Options:

54535039643, 1
64535039644, =
64535033645, 2
B4E3503964E6. 4

Question Number : 38 Question Id : 64635010072 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got {(2) What You See Is What You Get
(3) Where You See Is Where You Got {4) What You See Is What You Got
Options:

B4535039647. 1

B4535039645. 2

E4535039649 3

24835023650, 4

Question Number : 38 Question Id : 64635010072 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TTE T YRaraet § TiE Ies WYSIWYG 1 3= gfar 37

(1) =EELH AR LM (2) =eIH FmELR
(3) TEET I H T AL LM (4) =L H T L
Options:

B4635039647. 1
645350339645, 2
645350339643, 3
64535033650, 4

Question Number : 39 Question Id : 64635010073 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 15 called

(1) public domain software (2) freeware
(3} open-source software {4) shareware
Options:

B48350389E51. 1
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Question Number : 39 Question Id : 64635010073 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Hiveat, T8 @ e ereAare = gd 2, fd gae 3@iy = 9=, 36 W = T  fa
ATTH FTaH FA1 T51 3, THH F4d 5 -

(1)  TEas S HifeaaL (2) e
(3)  AH-TH TiTeaTL (4) TAEET
Options:

64535039651, 1
64535033652, 2
B4E35038E53. 3
E4635039654. 4

Question Number : 40 Question Id : 64635010074 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2} Solid State Drive
i AT ar 15 rive

3) RAM {4y Hard Disk Dn
Options:

B4635039655. 1
E4635039656. 2
54535033657, 3
64535033655, 4

Question Number : 40 Question 1d : 64635010074 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fefeiiag gt Hozi § | FH-H1 75 =1 i 5 3 H e g 2

(1) ZuF = gEa (2) Hifds Wz 3=
(3) W (Imum) (4) e fom gr=
Options:

64535039655, 1
64535033656, 2
645350339657, 2
545350339655, 4

Question Number : 41 Question Id : 64635010075 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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One of the main outcomes of the Rio +20 conference was to develop a set of ~ repp
] Sustainable Development Goals (2) Millennium Development Goals

(3) National Development Strategy (4) National Land Restoration Strategy
Options:

64535039653, 1
64535033660, 2
645350339661, 2
54535033662, 4

Question Number : 41 Question Id : 64635010075 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frafl +20 FHe 1 T T T R gq== 1 faes e

(1)  TREE fT=m a9 (2) wgaETEs T A&
(3) TS T T (4) T W T T
Options:

64535039653, 1
54535033660, 2
E4E350396E1. 3
B4635039662. 4

Question Number : 42 Question Id : 64635010076 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2000- 2012
Options:

54535039663 1
EdE35039664. 2
E4635039665. 3
54535033666, 4

Question Number : 42 Question Id : 64635010076 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
geaT=s g et % Fai=ag 1 gug-dm T

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 {4) 2010 -2020
Options:

64535039663, 1
645350339664, 2
64535033665, 3
E4E35039EEE6. 4
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Question Number : 43 Question Id : 64635010077 Question Type: MCQ Option Shuffling: No Display Qu&stit’lﬁetppe
Single Line Question Option : No Option Orientation : Vertical ‘

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2) Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

645350339667, 1
64535033668, Z
545350339663, 3
B4E35039670. 4

Question Number : 43 Question Id : 64635010077 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
feratEd § 8 T STErarg e e it 7919 3-6 778 o B B

(1) = S (2) WE-T=T=NAd 97 FIEGF
(3)  fire s (4) TEArad 94 HITEaE
Options:

645350339667, 1
64535033668, Z
B4E35038EE69. 3
B4635039670. 4

Question Number : 44 Question Id : 64635010078 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients {4) High level of organic matter
Options:

645350339671, 1
B4E35033672. 2
B4E35039673. 3
646350339674, 4

Question Number : 44 Question Id : 64635010078 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SR T S e g 2

(1) TR I (2) TR = e @
(3) I F A (4) A= TERT w1 =
Options:

645350339671, 1
645350339672, 2

Falr el ] sl e e Tl S )
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Question Number : 45 Question Id : 64635010079 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxvgen content in a water body

(1) decreases
(2) inecreases
(3 remain constant

(4) may Increase or decrease depending on the temperature range

Options:

64535039675 1
64635039676 2
64535039677 2
453039675 4

Question Number : 45 Question Id : 64635010079 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT | g % 99 9 HFE 0 fata Aifegem J9

(1) =22l
(2) "ed
(3) T TR

(4)  ATTHE TOE F I g AT T B
Options:
64635039675, 1
54535039676, 2
54535039677, 3
64535039678, 4

Question Number : 46 Question Id : 64635010080 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The constitution of India provides right to establish educational nstitutions of their choice
by all minorities as per

(1) Article 30(1) (2) Article 29
(3) Article 33 {4y Article 16(2)
Options:

64535039673, 1
54535033680, 2
E4E350396E1. 3
B4635039682. 4

Question Number : 46 Question Id : 64635010080 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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AT 7 g 99 FoTa=TH g F9-1 758 = Sgiors 5= =i =94 % J9EE 5 3999+ 2 ’repp

(1) IF=E 30(1) (2) = 29
(3)  Ig=Ie 33 (4) IF= 16(2)
Options:

B4635039673. 1
54535033680, 2
645350339681, 3
645350336582, 4

Question Number : 47 Question Id : 64635010081 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness Models

Options:

54535039682 1

54535039604 2

54535039685, 3

E4E5350396586. 4

Question Number : 47 Question Id : 64635010081 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TH eI UAE U () H I T
(1) T2 T8 ATE TFEH-AT B T T gTEEd
(2)  TZE 959 AT UiFea - FL T TDTIT 01554
(3) TZErE dee AH UFH-a- FIL I W] HT3-5H
(4)  TZEl F=F A U FIL 39 ASIE HTSEH
Options:
64535039653 1
64535039654, 2

B4E3503968E5. 3
E4635039686. 4

Question Number : 48 Question Id : 64635010082 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyvan Vani
(3} Gvan Dhara 4y GIAN
Options:

64535039687, 1

DAy Ay Ty



www.prepp.in

64635039659 3 prepp

64635D3"369D 4 Your Personal Exams Guide

Question Number : 48 Question Id : 64635010082 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ftatea § 2 F:H-31 fgiter 1% e 9= 27

(1) FH=zEA (2) T AT
(3) FAHEW (4) St AR T
Options:

645350339657, 1
64535033688, Z
B4E35038689. 3
E4635039630. 4

Question Number : 49 Question Id : 64635010083 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational Syvstem (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

24535029651, 1

5465350336892 2

B4E5350396593. 3

54535039654 4

Question Number : 49 Question 1d : 64635010083 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
At OideeAl § 5 Torme Tite ymet =t Saies, G-t 31 Jeei-= Jaal = g e

(1) T #74 Tr=sq A% 3 e 952 (1965)
(2) e A% FETHET T FHEH (1948-49)
(3) =Tz T (1944)

(4) e e fore (1929)

Options:

64635039691, 1

64635039692, 2

B46350396393. 3
6453503396594, 4

Question Number : 50 Question Id : 64635010084 Question Type MCQ Option Shuffling: No Display Question Number : Ye

CirnnlAal 1AMt iy MrmtiAarn * Nla MrntiAarn Mvicantastiarm » A\ A~Ard~al
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Correct Marks: 2 Wrong Marks: 0 ’repp
During which wvear the present syvstem of affiliation of colleges to the Universities was YourPersnal Bxams Guide
mtroduced in India?

(1) 1857 (2) 1945
(3) 1928 (4) 1966
Options:

B46350396395. 1
64535033656, 2
54535033657, 3
54535033635, 4

Question Number : 50 Question Id : 64635010084 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A B maTarerdt i favafamnadl § gwaga i adae e e T 1w g

(1) 1847 (2) 1948
(3) 1928 (4) 1966
Options:

54535039655, 1
645350339636, 2
545350339637, 3
E4E350396395. 4

PART II History

Section Id : 646350286

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 95

Number of Questionsto be attempted: 95

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 646350480
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635010085 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. Itis situated in Rajasthan

2. For its purely Mesolithic pre-pottery phase we have carbon dates in the
range of 5365=3775 BC

3. From its very beginning traces of agriculture have been found

4.  Zabu, ox, sheep, goat and pig were domesticated right from c. 3000 BC
Options:
64535039693, 1
64635033700 2
B4835039701. 3
B4635039702. 4

Question Number : 51 Question Id : 64635010085 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TR WI5e & way # Fofata 49 sH- w6 T &7

1. O e # safRa

2. TS TS eI M- WIUE OY0 & B & SeY § §E 9 5365-3775 5.4,
@ st @ @ fafial &)

3. 56 W H Bl iy gedl g ud Ty #1
4. w4 FW U3, I R G &1 S 5000 39, T § ureg w6 & w9 H areE
fera wman

Options:

64535039693 1
64535039700, 2
646350239701, 2
64635039702 4

Question Number : 52 Question Id : 64635010086 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List=T with List=II :

List-1I List-II

(Sites) (Chronclogy)
{a) Kili Gul Muhammad @  3370-2530% T,
(t) Damb Sadaat i) 4555-3885%.9,
(c) Kalibangan (i) 2980-1865%.1
(d) Rana Ghundai (v) 4550-3165%.9

Choose the correct option from those given below -
1. (ai) (i), (e, (di-Gv)

(a)-Gi), (b)) (eHid), (div)

30 (), (bAv): (e)i), (dHi)

4 (v (o)) (o) (d-0)

I

Options:
4535039702 1
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Question Number : 52 Question Id : 64635010086 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Teil-1 =1 FH-11 % Ty Fafm i

-1 FE-I1
() (RTET)
(a) foehi e Hpwe @)  3370-2330 BC
(b) T aEEY (i)  4555-3885 BC
(¢) rdEm (i) 2980-1865 BC
d) TIEE iv)  4550-3165 BC
2 fag o e & & wdl o @ 9o Fife

L @) )G ()G (d)-Gv)
2. (@) (b)HR) (e, (d-iv)
3.0 (), (b=0v); ()=, (=)
4 (@A) (G (e)i) (d)-0)

Options:

64535039703 1
64535039704 2
4535039705 2
64535039706, 4

Question Number : 53 Question Id : 64635010087 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identifv the site which does NOT attest to the presence of horse,
1 Ghaligai (1895-16%5 BC)
2. Burzahom (1700 BC)
3. Pirak (c. 1300 BC)
4. Inamgacn (c. 1400 BC)

Options:

64535039707, 1
64535039708 2
64635039703 2
64535039710 4

Question Number : 53 Question 1d : 64635010087 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



www.prepp.in

it i e I el T 8 & i e & prepp
1. fewmg (1895-1695%. 9

2. FERH(I700%.T)
3. fve @l 13008.9)

4. wla @dE 14008.9)
Options:
54535033707, 1
54635039708, 2
54535039703, 3
54535029710 4

Question Number : 54 Question Id : 64635010088 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List=I with List=II :

List—I List—II
(Authors) (Articles)

(a) Irfan Habib (i) Perhaps the Earliest Ploughed Field So
Far Excavated Anvwhere in the World

(b)Y B.B.Lal (i) Imagining River Saraswati—A
Defence of Common Sense

() FE. H. Meadow (iii) Regional Interaction in Indus Valley
Urbanization

(d) Marcia A Fentress {iv) The Domestication and Exploitation of

Plants and Animals in the Greater
Indus Valley

Choose the correct option from these given below :
Lo (aH(): (b)) (e, (d)iv)
2. (ariv) ) (e (d)-GiD)
3. (ap) (A (i), (d)iv)
4 (i) (b)) (civ), (d)-(iii)
Options:
E45350249711. 1
E4de3E039712. 2

B4635039713. 3
B4635039714. 4

Question Number : 54 Question Id : 64635010088 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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-1 21 -1 3 T gARe A - prepp
-1 11
() &)
(a) TP EEE @O wiw it affee ooz o @ o
TeEsaes iR 3 R 7
) o & am Gy  sHfEEn e oeedt—ar Rt ot
Hie TF
() o g = i) Yo sevwE 59 s et sdfATgoi
(d) wifemY H=ww v) & SHfEsm = umomens e
wies s vfmes 39 2 i guw aeft
Ht= fow o Rew & 4 oft om &1 94 Fifen

L (@ (eil); (o)), (d-iv)
2 (arv) () () (d)(Gii)
3. (api) (b (eHiil), (d)-iv)
4 (api) (b)) (eHiv): (d)(ii)

Options:

B4535039711. 1

64635039712 2

54535039713 3
B4635039714. 4

Question Number : 55 Question Id : 64635010089 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The radiocarbon dating is applied in which of the following?

1. Epigraphy
2. Archaeology
3. Manuscripts

4. Archival materials
Options:
64535039715 1
E4E35029716. 2
54635039717 2
B4E535039718. 4

Question Number : 55 Question Id : 64635010089 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fFrafofaa # 3 fed Wedierd Fo-fulo aeie om 3 ardt 32

1. e faen

2. REd s

3. ogRfy

4. e T
Options:

B46350389715. 1

CcACCO=Da7FiEc T
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Question Number : 56 Question Id : 64635010090 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following statements with regard to Bharatpur Archaeolagical site is
NOT correct?

1. Itislocated in West Bengal.

2. Itis sitwated in Rajasthan, from where the traces of bones of migratory birds
were found.

For period [, there was evidence for fishing, hunting and agriculure.

lad

4. Period Il provided evidence of the use of iron and northem black polished
ware.

Options:

64535039719 1
64635039720 2
64535039721 2
4535039722 4

Question Number : 56 Question Id : 64635010090 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
WO [aTee e & gay o FoffEc 43 . geaw o ad 87
1. agofim o Rad
2. UE o H R 2 wel | War wigri S gigal o s e
3. ooy H Ao swe, ien s siv et @ i &
4. Srmaty 11 H g 3 Sl S TASe HeHIS & Wi & aied [Ha g1

Options:
4535039719 1

BdE35039720. 2
B4635039721. 3
54535039722, 4

Question Number : 57 Question Id : 64635010091 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Once the Ahar Tron is disposed of, all 14 C dates for the earliest ivon levels in India
appear to cluster around 1000 BC or little earlier.” Whose opinion is this?

1. Rakesh Tewar

2. B.and R Allchin
3. Irfan Habib

4. B. Sasikaran

Options:

64535039723 1
64535039724 2
RAER=SEN=972E =
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Question Number : 57 Question Id : 64635010091 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“afg g7 ser o e v #t od 815 € o une o anfie O W ag ot 14 S (14 ©)
farfirf =4t 1000 €. g, anm SO g 50 =1 mht 81 0% e fewe 87

1. vemfoad

2. AUE om. Hfee

3., WeHwEE

4 #.ofEE
Options:

B4635039723. 1
54535039724, 2
64535039725 3
64535039726, 4

Question Number : 58 Question Id : 64635010092 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List—I with List—II :

List-I List—II
(Texts) (Authors)
(a) Kavyadarsa M Abhinavagupta
(k)  Ashradhvayi ({ii) Patanjali
(e) Mahabhasva (i) Panim
(d) Tantraloka (iv) Dandin

Choose the correct option from those given below :
L (@)Hiv); (i) (e)(ii); (dHD)
2. (a)Gv); (b)), (c)=(i); (d)=()
3. (i) (b)) (e)a) (dHiv)
4. (aHii); b0k (eHi); (diHiv)

Options:

64535039727 1
64535039728 2
64535039729 2
64535039720, 4

Question Number : 58 Question Id : 64635010092 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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-1 3 -1 & T AR H - prepp
-1 11
(T5%) (E=)
(a) T @  sfiFard
(b)  SHETETET (i) TEwa
(c) FETHT Gii) ~ orferdt
(d) dFTE Gv) &8
= fon m e d 9 ot o =1 909 Fifem

L (@Gv) )G (i) (d)-0)
2. (av); (i) ()G (d)-0)
3.0 (2D, ) (-G (dHv)
4, (a)iii), (o)0); (el (d)(v)

Options:

64635039727 1

54635039728, 2

64535039723 3
545350339730, 4

Question Number : 59 Question Id : 64635010093 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List—I with List=II :

List=I List=II
(Principalitv/Kingdom) {(Geographical limits)

(a) Avanti (i) Malwa region of Central India

(b} Gandhara {if) Modem Peshawar and Rawalpindi
districts and the Kashmir valley

(c) Chedi (iii} Eastem pant of Bundelkhand in
Central India

(d)y Wajji {iv)  North of the Ganga up to the Nepal
hills

Choose the correct option from those given below :
L (@) () (GiD): (d—Gv)

(@) (o)) (-(v): (dr-0)

3.0 (el ()G (-G) (d)-iv)

4. (a)i); (B (e(iv), (i)

()

Options:

64535039721, 1
64635039732 2
64535039733 2
645350397324 4

Question Number : 59 Question Id : 64635010093 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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-1 3 G113 T g @ - prepp
.1., Your Personal Exams Guide
-1 -1
() (T )
(a) @l (@) T NG & A 89
) TuR Gy iy twmR et Toeitd R oaw
FHEHIN Tl
© 4 () W RE A RERES B v
(d) o= iv) O Sl ugifsdl aF T & 39 W
= fag e een 7 @ 8 o &1 w0w S

1. (2 ()(i) (e, (d-iv)
2. (i) ()Gii); (e-iv): (dH0)
3. (i), i) (-, (dHiv)
4. (aHik i) (e-iv): (d)Hii)

Options:

64535039721 1

64535039732 2

B4635039733. 3
64535039734 4

Question Number : 60 Question Id : 64635010094 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
About Rajasekhara, which of the following statements is comect?

1. He was the most powerful ruler (985-1014 CE) of the Chola dynasty.

2.  He was a court poet (c. 9%=10% century CE) of the Pratihara mulers—
Mahendrapala and Mahipala.

3. He was first kmown ruler of the Satavahanas {c. 230 BCE) mentioned in the
Puranas.

4. Heis kmown to have composed Sirpanammuppatal, one of the tenidvlls of
the Sangam anthology.

Options:

64535039735 1
64535039736 2
64635039727 2
64635039728 4

Question Number : 60 Question Id : 64635010094 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e & Hay J FoftfEe § § S99 geaw =8 87

1. O 9o 9w &1 Faiius SRl 5EE (985-1014 §.5) am

2. a8 UiER TS HES M sfeam @1 avan 51 @ ofl-10f vl L )
7l

3. g qot & SitafE wma @ 230 @ R L) =1 owe I wee
4. FHAETH Heaq & 29 g a B | ve AhuiEsvaaa st st

Options:
~AR2EM=297=2E 1
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64635039738, 4

Question Number : 61 Question 1d : 64635010095 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements—one labelled as Assertion (A) and the other labelled
as Feason (R) :

Assertion (A) :  Ajatashatru is believed to have murdered his father in about 493 BC.
He annexed Kosala despite the fact that its ruler was his matemal
uncle.

Feason (R) @ Ajatashatru, the son of Bimbisara of Magadh was impatient to
become the ruler of Magadh and annexed the regions.

In the context of the above two statements, which of the following is comrect?

1. Both(A)and (E) are true and (E.) is the comect explanation of (A).

[

Both (A) and (B) are true, but (F) is not the correct explanation of (A).
3. (A)is true bur (R) is falge.
4. (A)is false but (R) is true.

Options:

54635039739 1

64635039740, 2

645350359741, 3
64535039742, 4

Question Number : 61 Question Id : 64635010095 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

#t2 St aweea om0 ¥ o @) sifiimua (A) FE T § 3R g B SR (R) S T E

HfHEYE (A) : T A O § 5 srwmawg A 493 € g F o o & gan # I
mﬁmmﬁﬁmﬁmmw&mwmmw

®IU (R) WY & (N ©1 O S WY 1 WS o & O S T S I
H 4T 1 Ao ey H feman

S < gaat & wed F Pra A & wm wd &
1. (A)3R (R) 21 W8 § 3R (A) F w8 =mEm (R) B
2. (&) 3R (R) ST e & ueg (A) @1 wet aarem (R) T R
3. (A)WE 2T (R) TR B1
4. (A)7Ta @ 9g (R) W6 §1

Options:

645350397393 1
64535039740 2
64535039741, 2
64635039742 4

Question Number : 62 Question Id : 64635010096 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Identify the temple from the group of temples at Mahakuteshwara near Badami, 'rep
comprising a sanctum and a portico which is of some imporntance, Your Personal Exams Guide

1 Galaganatha
2. Sangameshwara
3. Huchimalligudi

4.  Kadasiddeshwar
Options:
B4535039743 1
64635039744 2
E4E535029745 2
546535039746 4

Question Number : 62 Question Id : 64635010096 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FaTHI & e ARTgrest Fud Aieyl & T9p § TU A 1 T fows THTE & U Wi &

EER ]
1.  TemT
2. HaHaR
3. gfewdis]
4. warEEW
Options:

64535039743, 1
64535039744 =
54535039745 3
BdE35039746. 4

Question Number : 63 Question Id : 64635010097 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements—one labelled as Assertion (A) and the other labelled
as Reason (B :

Assertion (A) : There is little doubt now that certain facets of Indus Civilization
survived into the second and the first millennium cultures.

Feasom (R) : The earlier hiatus between the Indus Civilization and the Vedic
culture is no longer acceprable.

In the context of the above rwo statements, which of the following iz correet?
1. Both(A)and (R) are true and (R) is the comrect explanation of (A).
2. Both(A)and (R} are true, but (B) is not the comrect explanation of (A).
3. (A)is true but (R) is false
4. (A)is false but (R)is true.

Options:

64635039747 1
64635039748 2
64535039749 2
E4E3E039750. 4
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Question Number : 63 Question Id : 64635010097 Question Type: MCQ Option Shuffling : No Display Questi('IrLetppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
#t2 g FuF Ry o & v #1 aifimm (A) T8 T & AR g I R0 (R) SR TR
it (A) A Ed uEy H ST61 FA UeE & T R el maa F shoo e Rda

Your Personal Exams Guide

SR TR HEwIa ¥ SR A e 2

FR (R) . iy o i oR AftE Ifa & o wifie & wom & R
3@ TE H=1 W 2

I A A F Eed APm AT R w2

1. (A) 3R (R) ST o8 & of= () 7 w8t = (R) B
2. (A) ST (R) ST 96l & weg (A) @1 9E = (R) 76 2
3. (A)TE 2w (R) TR B
4. (A) O R WG (R) HE R
Options:
64635039747, 1
EAdEZE0=Ea9748 2

BdE35039743. 3
B4635039750. 4

Question Number : 64 Question Id : 64635010098 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements—one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : The nationalist historical writing saw the bipolarity of the spirtual
content of Indian culture and the matenalist basis of Westem culture
as an essential and inherent difference.

Feason (R) : This was in part a reaction to the view thar religion was such a central
factor in traditional seciety of India that it ebstracted progress.

In the context of the above two statements, which of the following is correct?

1. Both(A) and (R) are correct and (E.) is the comrect explanation of (A).

[l

Both (A) and (R) are comrect, but (R) is not the comrect explanation of (A).

L

(A)is true but (B) is false.

4. (A)is false bur () is true.
Options:
B4535039751. 1
B4535039752 2
64635039753 2
64535039754 4

Question Number : 64 Question Id : 64635010098 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



www.prepp.in

= & Fua fau MU £ v 1 w4fimA (A) T8 T § AR gE S SR (R) FE TR frepp

Your Personal Exams Guide

i (A) - upEd shwm @ 3 v SR & aafe T au ol
éagﬁﬁmwﬁwwmaﬁ%w%mﬁ
|

N (R) . g g 39 fiaw ot ofefem st oparm A S el vyrm &
Ui A | UF U S50 S o faan wifd &1 s@ss fen

T A s el afp At e &
1. (A) 3R (R) ST W81 & o (A) 2 W1 aarem (R) &1
2. (A) 3R (R) ST 981 § g (A) 1 w8 @ure (R) T8 81
3. (A) 8 g (R) T@ 2

4. (A) A B WA (R) T B

Options:

45350329751 1
64535039752 2
64635039753 2
64635039754 4

Question Number : 65 Question Id : 64635010099 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

With regard to Agraharas, which of the following statements are correct?
{a) Irwas a Sanskzit term used especially c. mid-first millennium CE onwards.
() Itwas a term to designate a category of land grants made to Brahmans.
(c) Generally these grants were in perpetuity.

(d) Donees were given theright to organise production and colleet revenue and
other resources from the land.

Select the correct answer from the options given below :
1. (a), (c) and (d) only
2. (b} and (d) only
3. (2. (). (c) and (d)

4. (a). (b) and (c) only
Options:
64535039755 1
64635039756 2
64535039757 32
64535039758, 4

Question Number : 65 Question Id : 64635010099 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£4835039755. 1
£46835039756. 2
£4835039757. 3
£4835039758. 4

Question Number : 66 Question Id : 64635010100 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The public display of inscribed texts on rock faces and free-standing pillars was
followed by Indian ruler in imitation of the practices followed by the

1.  Achaemenids

2. Greeks

3. Sakas

4. Parthians
Options:

54535039759, 1
BdE35039760. 2
B4635039761. 3
54535039762, 4

Question Number : 66 Question Id : 64635010100 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3. T

4. uftfas
Options:

645350359753, 1

L A ey e, — ey



84655035761, 3 prepp

64635D3"3?62 4 Your Personal Exams Guide

Question Number : 67 Question Id : 64635010101 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Perhaps it was much for the Saleas cultural innevations for their political demination
that a new era came to be named after them.” What according te Sheldon Pollock was
this "cultural innovation™?

1. Heavily armoured cavalry
2. Parthian shet
3. Use of wine, meart and railored garments
4. Use of Sanskrit for political purposes
Options:
4835029762 1
546535039764 2

64635039765, 3
64535039766, 4

Question Number : 67 Question 1d : 64635010101 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“FHaH: WHI G I AaH11ce THE 5 O] T Hispide TaMdN 6 Ul % 0% Tu g

w1 A e 18 O T T EeSA UilE & AN 95 Hisiae Aard & u?
1.y sEegsd 3
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Options:

64535039763 1

64535039764 2

64635039765 2

64635039766, 4

Question Number : 68 Question Id : 64635010102 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Given below are two statements—one labelled as Assertion (A) and the other labelled 'repp
as Reason (R) Your Personal Exams Guide

Assertion (A) © It is argued that enlogy of poets was not the basis of legitimation of
political power in early historical South India.

Eeason (R) : The poets of the period were dependent on kings for their material
well-being.

In the context of the above two statements, which of the following is correct?

1. Both{A) and (R) are true and (R) is the correct explanation of (A).

L

Both (A) and () are true, but (R) is not the comect explanation of (A).

(A)is true but (R) is false,

ek

4. (A)is false but (E) is true.
Options:
B4E535039767. 1
B4E35039768. 2
645350397639 3
B4E35039770. 4

Question Number : 68 Question Id : 64635010102 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
f St wm Rumu ¥ w91 sfimy (A) T 7 & oK g & SR (R) TR T
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(A) 3% (R) 2T wEl & oY (A) 1 wdl arem (R) 31

[

(A) 3R (R) S wEl & Ug (A) 1 w81 wrEm (R) T 2

L

(A) 98! R TG (R) T &

4. (A) 7o & o (R) T 2
Options:
64635039767, 1
£4635039768. 2
£46835039769. 3
£46835039770. 4

Question Number : 69 Question Id : 64635010103 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which of the following refers to a local centre of exchange, in between small periodic 'rep
markets and large trade centres? Your Personal Exams Guide
1. Mandapika

2. Tevaram

3. Gana
4. Agrahara
Options:

64635039771, 1
64535039772 2
64535039773 2
54535039774 4

Question Number : 69 Question Id : 64635010103 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et 99 29-W o1 et TRl au 53 T 5 & 9 5w R e

@i 3 @a &7
1. Hsfiw
2, dWH
3. W
4  HIEH
Options:

B4835039771. 1
BdE35039772. 2
64635039773, 3
64535039774, 4

Question Number : 70 Question 1d : 64635010104 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following is NOT comrectly matched?

1. Nagarastvle :  The base of the Nagara temples is square witha
number of projections in the middle of each side giving
it a cruciform shape.

2. Dravidastvle :  The most important feature of this style is its pyramidal
shikaras.
3. Kashmir style :  Itis purely a local style with no traces of any

influences from the outside world.

4.  Vasara style : Itis a hvbrid of northemn and southemn stvles.
Options:
64535039775 1
E4E35029776 2
B4dE35039777. 2
64535039778 4

Question Number : 70 Question Id : 64635010104 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535039775, 1
54535039776, 2
64635039777 3
54635039775 4

Question Number : 71 Question Id : 64635010105 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT true about Mill's History of British India?

1. It founded the traditional institutions of India static and retrogressive
2. The analvsis made by Mill suited the needs of impenial government

3. It became a textbook on India for the British officers of the Indian Civil
Services at Hailevbury College

4. Irwas not informed by the English utilitarian philosophy

Options:

64535039779 1
4535039720 2
64635039781, 2
64535039782 4

Question Number : 71 Question Id : 64635010105 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frafefas 3 o fim & R oife fofew it & Jey dadt adf
1. 59 YAE F Uil SRt B 33 o gamd o
2. T g e o e wreneus e R & S Uil
3. O Rl st # wedtn fafea da & fafem sfiefl B ya S ¥y Hos
aroagEE
4. @R fafen ImaiamErd o= #1508 a6 Ul
Options:
545350297749, 1
54535039780, 2
54535039781, 2
54535039782, 4

Question Number : 72 Question Id : 64635010106 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which of the following is incorrect? prepp

Your Personal Exams Guide
1. Long after wnting became an evervday practice a bias towards oral
persisted.

2. Bhartrihari declared that ‘understanding has the form of speech ... speech-
Informed awareness is the foundation of all knowledges'.

3. The Indians thus privileged of ‘Granthastha’ over ‘Kanthastha',

4. The view of Latin grammarians of the ninth century was quite contrast to
the normative Indian views. In Europe the leamed man was therefore the
“litteratus’,

Options:

64535039783 1
64635039784 2
64535039785 2
4535039736 4

Question Number : 72 Question Id : 64635010106 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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i

Options:

64535039783 1
64635039784 2
64535039785 2
45350397286 4

Question Number : 73 Question Id : 64635010107 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT true about the different positions ascribed to mixed
castes by Manusmrit?

1. Children bom of wives one degree lower in Vama status were somewhat
acceptable as a part of the twice bom.

2. Those bom from women separated in status by two or three degrees led the
creation of a new group within the Sudra fold.

3. Incase thestatus of a woman was higher than that of a man, the progeny of
such mamage was placed lower in status than the two parents.

4. Anulomsa mamiages were treated as more violative of the sacred law than
FPratiloma.

Options:

45350329787 1
64635039788 2
646350397893 2



www.prepp.in

prepp

Question Number : 73 Question 1d : 64635010107 Question Type: MCQ Option Shuffling: No Display Questicn Nerrmber s e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535039787 1
64535039788 2
4535039789 2
64535039790, 4

Question Number : 74 Question Id : 64635010108 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements—one labelled as Assertion (A) and the other labelled
a5 Reason (R) :

Assertion (A) © The age of the Guptas is often described as a classical age in the
sphere of cultural developments.

Feason (R) : While appreciating the artistic ideals of the Gupta period it is argued
that it marks one of the several epochs that saw impressive
developments in artistic activity,

In the context of the above two statements, which of the following is correct?

1. Both(A)and (R) are true and (R} is the correct explanation of (A).

b

Both (A) and (E) are true, but (R is not the comrect explanation of (A).
3. (A)is true but (R) is false.
4. (A)is false but (R} is true.

Options:

54535039791 1

B4E35039792. 2

645350397593 3

E4E535039794. 4

Question Number : 74 Question Id : 64635010108 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64635039791, 1
64635039792, 2
64635039793, 3
4635039794, 4

Question Number : 75 Question Id : 64635010109 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements is not comrect conceming Dharmashastra texts?
1.  They refer to the four Farnas and norms of social living.
2. They donot refer to various Jatis.
3. They refer to Desh-dharma and Eula-dharma.
4. They insist on evervbody to follow the Dharma of his Farna.

Options:

64535039795 1
64635039796, 2
64535039737 3
4535039738 4

Question Number : 75 Question Id : 64635010109 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64635039795 1
64635039796, 2
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Question Number : 76 Question Id : 64635010110 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Mahajanapadas supplied men and materials to the Persian army
fighting against the Greeks?

1. Gandhara

2. Kamboja

3. Magadha
4. Vatsa
Options:

B4E350397393. 1
B4635039:00. 2
54535039501, 3
64535033502, 4

Question Number : 76 Question 1d : 64635010110 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6453503597393, 1
54535033500, 2
B4E35039801. 2
B4635039502. 4

Question Number : 77 Question Id : 64635010111 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following regions Kalibangan was situated where a large number of
sites of proto-Harappan culture have been discovered?

1. Sindh
2. Punjab
3. Rajasthan

4. Gujarar
Options:
545350393803 1
545350339804 2
B4535039205. 3
54535039506, 4
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Question Number : 77 Question Id : 64635010111 Question Type: MCQ Option Shuffling: No Display Questim'lﬁetppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535039503, 1
64535039504, 2
64535033505, 2
54535033506, 4

Question Number : 78 Question Id : 64635010112 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is considered as the first surviving Indian text containing a
swstematic discussion of astronomical instruments?

1. Arvabhativa

2. Surya Siddhanta

3.  Brahmasphutasiddhanta
4.  Khandakhadyaka

Options:

64535039807, 1
64635039808 2
645350398093 2
64535039310 4

Question Number : 78 Question 1d : 64635010112 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B4835039807. 1
B4635039808. 2
64535039503, 3
64535039510, 4

Question Number : 79 Question 1d : 64635010113 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
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Which of the following is wrongly matched? ' re p p
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1. PR.5 Sharma : Urbem Decay in India
2. Joanna Williams : The drt of Gupta India : Empire and Provinces
3. A L Basham : The Wonder thar was India

4.  PRomila Thapar : Myth and Reality, Studies in the Formation of Indian
Culture

Options:

64535039811, 1
64635039812 2
64535039813 2
64535039814 4

Question Number : 79 Question Id : 64635010113 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535029811, 1
64635039812 2
64535039813 2
64535039814 4

Sub-Section Number: 2
Sub-Section 1d: 646350481
Question Shuffling Allowed : Yes

Question Id : 64635010114 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (80 to 81)
Cuestion Label - Comprehension

Read the following passage and answer the questions given

The political history of early medieval period saw the proliferation of states and land grants.
Land grants to Brahmans plaved a significant role in the legitimation of political power and
had significant impact on agrarian relations. There was agrarian expansion in various pans of
the subcontinent and rural societies became increasingly stratified. This was not a penod of
urban decay. This is most evident from South India where crafts, cities, trade and trade guilds
flourished. Trade links between the subcontinent, China and South-East Asia expanded
significantly. Devotional worship was a marked feature of religious thought and practice.
Temples functioned not onlv as sacred spaces, but also as the core of urban centres and as
political symbols. The patronage they attracted made them points of convergence of the
activities and aspirations of diverse social groups. Significant development occumred in the
cultural sphere including a range of texts in Sanskyit and Vemacular languages. There was an
efflorescence and refinement of temple architecture and sculpture; and distinet regional stvles
became apparent. During c. 600-1200 CE, the developments at the political, social, economic
and cultural levels crvstalized into distinet regional formations and pattems.
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Question Number : 80 Question Id : 64635010115 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The term “early medieval’ referred to here is indicated to have began around
1. 1206CE

2 12% century

3 11" century
4 &00CE
Options:

64535039515, 1
E4535039516. 2
B4E35039817. 3
B46350395158. 4

Question Number : 81 Question Id : 64635010116 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What consequences flowed from the land grants given to Brahmans?
{1}  Thev buttressed the position of mlers.

{ii) Thev led to the growth of agriculture as not unofien the grantee had to bring
fresh land under cultivation.

(iii} The undifferentiated rural society got further stratified.

(iv} The practice of endowing land grants to religious institations and
personages began from c. 600 CE.

Choose the correct answer from the options given below :
1 (), (i), i), (iv)
2. (i), (i), (ii)
3. () GiE), (v)
4. (), Gid), @v)
Options:
54635039813, 1
54635039820, 2

B4635039821. 3
64535039522, 4

Question Id : 64635010114 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (80 to 81)
Cuestion Label - Comprehension
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Sub questions

Question Number : 80 Question Id : 64635010115 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. 11wt

4. 600%
Options:

64535039515, 1
E4535039516. 2
BdE35039817. 3
B46350395158. 4

Question Number : 81 Question Id : 64635010116 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4535039519 1

B4E35039820. 2
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64635039522, 4 rrepp
Sub-Section Number: 3
Sub-Section Id: 646350482
Question Shuffling Allowed : Yes

Question Number : 82 Question Id : 64635010117 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements—one labelled as Assertion (A) and the other labelled
as Reason (R) :

Asgsertion (A) : The early medieval period possessed some critical features of
feudalism, but it significantly differed from European feudalism,

Feason (R} : The early medieval South India was a period of urban growth as is

evidenced by the flourishing crafts, trade, trade guilds and urban
cenires.

In the context of the above two statements, which of the following is correct?

1. Both{A) and (R) are true and (R) is the correct explanation of (A).

b

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. (A)is true but (B) is false,

4. (A)is false but (B) 15 true,
Options:
64535039823 1
546535039824 2
B4E535039525. 3
B4E35039826. 4

Question Number : 82 Question Id : 64635010117 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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= Het i e Sl S Remd T R
T A e P A ad &

(A) 3R (R) ST Tt € 3R (A) T Wt e (R) B
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64635039823 1 prepp
64635039824, 2 o ana ok
64635039825, 3
84635039826, 4

Question Number : 83 Question Id : 64635010118 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements are correct?

(i) There was a growth of sectarian religious groups during the early medieval
India. Among them a doctrnal cult emphasising on devotional worship
gained popularity.

(ii) Temples became dwvnamic spaces with political, social, cultural and
economic functions—all rolled into one.

(iii) The wban centres of early medieval India can be grouped into two
categories—one may be called administrative towns and the other
commercial towns.

(iv) As the temples attracted diversified social groups, they dented the namrative
favouring exclusion.

Select the answer from the options given below :
Lo (), (i), Gv)
2. (i), @), (iv)

3. (), @), (i)
4. Q) (i)
Options:

64635039827, 1
545350339528, 2
64535039523, 3
54535039530, 4

Question Number : 83 Question Id : 64635010118 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635039827, 1 'rep
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545350395239 3
E4E535039830. 4

Question Number : 84 Question Id : 64635010119 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are NOT relevant for the emergence of regional formations
during the pericd between ¢, 600-1200 CE?

(i)  Proliferation of Sanskrit texts

({iiy Growthof Vemacular languages

(iii) Refinement in architecture and art

(iv) Emergence of distinct regional styles in at and architecture

Choose the correet answer from the options given below

L @), Gv)

2. (i), Giv)

3. (), (iid)

4. Q) (i)
Options:

B46350398321. 1
64635039532, 2
54535039533, 3
64535039534, 4

Question Number : 84 Question Id : 64635010119 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

600 ® 1200 % & 919 31 @y & = 49 due1 & 90 & fm Pofefas A @ =

@) Fpa TR F faww

i) = ummet & e
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=t T Ty fiwedl & 98 S & 994 @
1 (i), (v)
2. (i), Gv)
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Options:

cAC—2DC =9,y —qd 1
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545350339534, 4

Question Number : 85 Question 1d : 64635010120 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
From where the concept of free kitchen (Langar) was adopted bv the Sikhs?

1. Hindutemples

2. Churches

3. Sufi dargahs

4.  Shankaracharva’s mathas

Options:

645350393835 1
4535039836 2
64635039827, 2
645350398328 4

Question Number : 85 Question Id : 64635010120 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ot g qua T (@) S SR Bl | S e 47

1. fRgdlda
2. fofertd
3. gEiEvmeld

4. weAMHRSIH
Options:
54535039535, 1
54535039536, 2
54535039537, 3
546350395328 4

Question Number : 86 Question Id : 64635010121 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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List-I List—II
(Source) (Region)
(a) Chachnama i) Gujarat
(b)  Rivaz us Salatin i) Deccan
(c) Mirar-i Ahmadi (ili) Bengal
{d) Nuskha-i Dilkusha (iv)  Sind

Choose the comrect option from those given below

1. (a)yiv) (b)) (e (d)-i)

| 2= )

(a)Gi); (o)) ()(Gii); (d)-{)
30 (aiv) (bHGE): ()G, (dHiE)
4, (a0 eV (d)-Gi)

Options:

54635039839 1

54635039840, 2

54535039541, 3
64535039542, 4

Question Number : 86 Question Id : 64635010121 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i1 7t -1 & w ke S
" -1 Feft-11
(=) Cey
(2) =EATH (i) TW
) Feme aa st (i) P4
() fwm-uamwe (i) &

() Fe@-giepm Gv) fu
iy feu 7o fiwea © & TRl oy @1 9494 ®ihag
L @riv) ®G) (-0 (-6
2. (@) (b)Hiv): (e, (d-0)
3.0 (v () (el (d-G)
4 (i) G (Hiv): (d)ii)

Options:

64535039829 1
64635039840, 2
64635039841, 2
64535039342 4

Question Number : 87 Question 1d : 64635010122 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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In which of the dialect, Tuhfar-ul Hind, an 18% century source, has provided a very 'rep
extensive glossary? Your Personal Exams Guide
1. Bry
2. Awadhi

3. Rajasthani

4.  Gujarati
Options:
B4535039543 1
54535039544 2
£4535039845 2
E4E35039546. 4

Question Number : 87 Question Id : 64635010122 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
1641 TTeEt F Wi qeeTe-Ia o | Fmfuias 49 few a4 R weeraeh & 7 87

1. w9

2. o

3. e

s g
Options:

B4E35039843. 1
E4635039044. 2
64535039545, 3
64535039546, 4

Question Number : 88 Question 1d : 64635010123 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Afrer Alanddin Khalji's death his price control measures collapsed and under
Quitbuddin Mubarak Khalji price rose rapidly. Which one of the following

chroniclers'travellers mentions about growing prices during Mubarak Khalji's reign?

1.  Shaikh Mubarak
2. Yahya bin Ahmad Sirhindi
3. Shaifuddin Al Yazdi
4. Mirza Haidar Dughlat

Options:

54535039547, 1

B4635039848. 2

64535039543, 3
645350339550, 4

Question Number : 88 Question 1d : 64635010123 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1, "EEERE

2. e e ewe Wied

3. EpE ot awedt

4. ol Rex ge
Options:

B4E35039847. 1
E4635039048. 2
54535039543, 3
64535039550, 4

Question Number : 89 Question 1d : 64635010124 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bv which name French traveller Jean-Baptist Tavemier called the capital citv of
Golkonda?

1. Golkonda
2. Bhagnagar
3. Falaknuma

4. Hyvderabad
Options:
545350395851 1
E4E35039852. 2
546535039852 2
54535039554 4

Question Number : 89 Question Id : 64635010124 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wiEE aef o= -aftw tafim 3 iester & TwuEt TR S wn am e

1. TisiE

2. M

3. wOmgA

4. oo
Options:

B4535039851. 1
64535039852, 2
64535039553, 3
545350339554, 4

Question Number : 90 Question Id : 64635010125 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Who founded the city of Buthanpur around 1400 on the bank of nver Tapti? 'rep

Your Personal Exams Guide

1. Masir Khan Faruki
2. Muhammad Quli
3. Ibrahim Adil Shah
4. Sultan Quli
Options:
4535039555 1
4525039856, 2

B4635039857. 3
545350339555, 4

Question Number : 90 Question Id : 64635010125 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ATt T2t & e wm 1400 £ F SeEER T # = e @ i

1. AR e

2. e g

3. TG sfea g

4. FEAEH
Options:

54535039855, 1
64535039556, 2
54535039557, 3
E4E35039858. 4

Question Number : 91 Question Id : 64635010126 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Marteh List—I with List—II :

&

List-I List—II
{a) Malik Sarwar (i) Gujarat Sultanate
by Zafar Khan (ii) Bahmani Sultanate
(c) Dilawar Khan Ghun (iii)  Jaunpur Sultanate
(d) Alanddin Hasan {iv)  Malwa Sultanate

Choose the comect option from those given below :
L (@) (v () (d)-)
2 (i) (o) (e){iv): (d)ii)
3. (ayid) (o)) (e)-(v); (d)-Gi)
4, (aiv) ®Gi); (ed); (dHi)

Options:
645350398593 1
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Question Number : 91 Question Id : 64635010126 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 F1 -1 F Wy gRfoa Fife

-1 -1
(a) Wfts W () T W
(b) wEE (i) EEH Head
(¢ feemmaiand Gi) AR ST
(d) HETIEH (v) e Teoa
4 fam 7y e & @ ol o = 9= Fifvm

1. (ar(u) ©0v) () (di-u)
2. (i), (b)-Q); (e)-{v); (d)(Gii)
3. (a)ii); ®G) (eiv) (d)-Gi)
4. (aHiv); (b)), (i), ()

Options:

453502498549 1

EAEZE0=9880 2

54535039561, 3
B4E35039862. 4

Question Number : 92 Question Id : 64635010127 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mongal Khan Tarmashinn invaded India in the reign of which of the following
Tughlug rulers?

1. Ghivasuddin Tughlug

2. Muhammad bin Tughlug
3.  Firoz Shah Tughlug

4. Sultan Muhammad

Options:

64535039363 1
64535039364 2
646350393865 2
64535039866, 4

Question Number : 92 Question Id : 64635010127 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. FErERTes
2. HpwE fEE grae
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Options:

B4535039863. 1
BdE35039864. 2
64535039565, 3
64535039566, 4

Question Number : 93 Question 1d : 64635010128 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In 1579, Mahzar was drafted by which of the following scholars?

1.  Abul Fazl and Sheikh Mubarak
2. Sheikh Mubarak and Abdun Nabi
3 Abdun Nabi and Badauni

4. Sheikh Mubarak and Faiz

Options:

64535039867, 1
64535039868, 2
64635039863 2
64535039370 4

Question Number : 93 Question Id : 64635010128 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Profifaa 3 2 2.3 et 3 1579 € & vy &1 o oo faem ar?

1. EAHwd SN 9E JERS
2. i AN T Segd TEl
3. Hegd TE AR TRl
4 O HEN AR Hut

Options:

64535039367, 1
64535039368 2
64535039869 2
64535039870 4

Question Number : 94 Question Id : 64635010129 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



\:u::"']\:,t\i,:\{_;rtp-:ref?]?:?ollmving sources deal with the history of Sindh? 'rep
(i)  Fatawa-i Jahandar o
(i) Mirat-i Sikandan
(iii) Tankh-i Tahid
(iv) Mazhar-i Shahjahani
Select vour answer from the options given below :

1. (i) and (i) only

2. (i), (iii) and (iv) only

e

(1) and (1) only
4. (iii) and (iv) only

Options:

64535039871, 1
64635039872 2
64635039873 2
64535039874 4

Question Number : 94 Question Id : 64635010129 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Faff@o A sm-dda Ry s sheed desfim @

i) waa.geEEn
i) frm-ufmsh
i) oriE-umfed
(iv) FHER-T WEwEl
=t few o faeeat | 98 ITH &1 90 B
1. (D) R )
(i), (i) SR ()
3. Ew () SR Gi)
4. Em (i) AR Gv)

[

Options:

64535039871 1
453039872 2
64635039873 2
64535039874 4

Question Number : 95 Question Id : 64635010130 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



www.prepp.in
Identify the two emperors of India and Uzbekistan, who agreed to fix Hindu-Eoh or 'repp
Hindu Kush as the frontier of the two empires. Your Personal Exams Guide

1.  Akbar and Abdullah Khan Uzbek
2, Jahangir and Abdullah Khan Uzbek
3 Tahangir and Abdul Mumin Uzbek
4. Shah Jahan and Imam Culi

Options:

453250395751

4625039576, 2

64535039577, 2
54535039573, 4

Question Number : 95 Question Id : 64635010130 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

WG S IR & & e & A aa1sy o fEg-iE 1 feg W &1 < Smnedt @t
e 79 T W FeAd gul

1w 3R segee @l Iod®
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Options:
45350395751

BdE35039876. 2
B4E35039577. 3
545350339575, 4

Question Number : 96 Question Id : 64635010131 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Regarding Tageviloans, which of the following statements are NOT comrect?

(i) These were given to peasants for agricultural purposes.
(ii) These were given totraders for trade purposes.

(iii} These were advanced through the Chandhuris and Mugaddams, who
distributed them among the individual peasants.

(iv) Chaudhuris and Mugaddams did net stand surety for their repayment.
Choose the comrect answer from the options given below :

1. (@), (i) and (i) only

(]

(i) and (jii) only

3. (), ), Gii), Gv)

4. (i) and (iv) only
Options:
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545350339582, 4

Question Number : 96 Question 1d : 64635010131 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
el w5l & wey H Prgfafee 4 SR s ad Tf &

G) oY wireET &g feaet 9 e 4

(i) =TI WAl B STl i fam e 41

(i) wmgﬁﬁﬂswﬂﬁqaﬁﬂmm-mﬁmﬁaﬁﬁm
C 4 |

(iv) T R gFEE IAE! s & TS A a4
Ht= fau o faedt 4 ot s w U =L
1. FaE@ (), Gi) AR Gii)
2. Fmm (i) # (i)
3. (), Gi), (i), Gv)
4. Faa (i) IR Gv)
Options:
4635039579 1
4625039580, 2

E4E350339881. 2
E4E35029852. 4

Question Number : 97 Question Id : 64635010132 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mir Jumla invaded the Ahom kingdom and occupied the Ahom capital, Garhgaon. A

treaty was signed between him and the Ahom kingdom in 1663, When did Ahoms
forced the Mughals to given up Koch Hajo and accept the river Manas as the boundary?

1. 1667
2. 1681
3. 1685
4 1689
Options:

B4635039583. 1
54535039584, 2
64535039585, 3
54535033586, 4

Question Number : 97 Question Id : 64635010132 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 1667
2. 1681
3. 1685

4. 1689

Options:

64635039333
64535039334
64635039355,
64635039886,

W L] )

Question Number : 98 Question Id : 64635010133 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“For ensuring safety on the roads and for extending comforts to the travellers, he built

sarais on the highwav at a distance of two Krosh. The travellers could get beds and

cooked food. There also was provision for uncooked food supplies. He built some 1700
such sarais. " Who is this ruler?

1.  Ibrahim Lodi

2. Sher Shah

3. Akbar

4. Shah Jahan
Options:

B4635039887. 1
545350339588, 2
64535039583, 3
54535033530, 4

Question Number : 98 Question Id : 64635010133 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O TEH1 W gy GHTET F R a1l @1 gl veE B & R aeen w gl E e

i gl T Tl &1 e S Og ot R Sl oe sies ue o 99 4 e o
e @t o @t ot soaer & S R e 1700 Tt @ Rt s g oo

A
1. EieA wet
2. EREE
3. HEH
4. wTEwE
Options:

64535039557, 1

E4635039888. 2
CACTDCOoOERDog =
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Question Number : 99 Question Id : 64635010134 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following products was NOT imtroduced in India by the Portuguese?

1. Tobacco

2.  Betel

3. Cashew

4.  Pineapple
Options:

54535039551, 1
6453503953z2. 2
54535039533, 3
EdE350398394. 4

Question Number : 99 Question Id : 64635010134 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Hia H FfefEs 4 9 few oar 21 seam g w2l 39w 67

1. amEE

2. WA

3. T

4. HAATH
Options:

545350395391, 1
BdE350398392. 2
B46350395393. 3
54535039554, 4

Question Number : 100 Question Id : 64635010135 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The earlier literary reference to cotton carder’s bow comes from which of the following
Persian text?

1. Miftah-ul Fuzala

2. Qawwa's Lexicon
3.  Sirat-i Firozshahi

4. Futuhat-i Firozshahi

Options:

64535039395 1
64535039396 2
64535039897 2
64535039898 4



www.prepp.in
Question Number : 100 Question Id : 64635010135 Question Type: MCQ Option Shuffling : No Display Quesirlw
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. fAwmE-Iu e

b

T dfaass

Hiva-u fpiraeme!

e

4.  Fgee-u e
Options:
B4E5350395495 1
E4E350239856, 2
B4E350395597. 3
545350395598, 4

Question Number : 101 Question 1d : 64635010136 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following revenue grants was NOT granted to the religious
intelligentsia?

1, Amlak

2. Idrar

3. Inam

4. Augaf
Options:

B4E350398393. 1
B4635039300. 2
54535039501, 3
64535039302, 4

Question Number : 101 Question 1d : 64635010136 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fraftfan & @ o5 o s vids gfohfdt @t 2 e s ar?

1.  HHTE
2 TR
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4. HETE
Options:

B4835039859. 1

o d e p— e p— e
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Question Number : 102 Question Id : 64635010137 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statement(s) is/are comect?
(a) Ibn Battuta speaks highlv of the mangoes produced in India.

(b} He mentions of its production through planting of the kemel.

() IbnBatrutamentions that practice of mango-grafiing was very much in
vogue in India,

Select the correct answer from the options given below :

1. (a)only

2. (c)only

3. (2)and(b)

4. (b)and(c)
Options:

B4635039503. 1
64535039504, 2
54535039505, 3
64535039306, 4

Question Number : 102 Question Id : 64635010137 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frafofae & & oM-w/8 su= i
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54535039303, 1
B4E35039304. 2
E4635039505. 3
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Question Number : 103 Question Id : 64635010138 Question Type: MCQ Option Shuffling : No Display QuestiorNuiief <Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A number of changes were introduced by Ghivasuddin Tughlug in Alauddin’s agrarian
measures. Which of the following in this context is NOT comrect?

1. To lighten the burden of the peasants he substituted hulm-i masahat
{measurement) to hukm-i hasil {crop sharing).

2. Ghivasuddin did not believe in Alauddin’s principle of levelling down the
village heads to the rank of the ordinarv peasant and restored their
perquisites.

Lad

He exempted their cultivation and pasturage from assessment.

4.  He also continued and encouraged the praetice of farming of the land
revenue,

Options:

64525039907 1
4535039908 2
64635039903 2
64535039910, 4

Question Number : 103 Question Id : 64635010138 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64c35039307. 1
64035039308 2
64:35039309. 3
4535039910 4

Question Number : 104 Question Id : 64635010139 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which of the following taxes fell in the category of granting free trade facilities and 'rep
reduction in the taxes? Your Personal Exams Guide
(a) Sair-dam
(b} Mugata
(c) Mapa
(d} Rahdan

Select the comrect answer from the options given below :

1. (a) and(b)
2. (b)) andc)
3.  (b) and (d)

4. (a), (<) and (d)
Options:
£4535039911. 1
B4E535039912 2
e4E3502931=2. 2
54535039914 4

Question Number : 104 Question Id : 64635010139 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3. (b) R (d)

4. (a) (o) M (d)
Options:
£4635039911. 1
£4635039912. 2

545350393913 3
EdE35039514. 4

Question Number : 105 Question Id : 64635010140 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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With regard to music which of the following statements is NOT correct? 'repp

Your Personal Exams Guide

1.  The Lahjat-i Sikandan, a work on classical music was written under the
patronage of Sultan Sikandar.

2. Abul Fazl names thirty-six musicians who plaved vocal and instrumental
music at Akbar's court.

3.  Shah Jahan did not encourage music in his court and did not reward the
musicians. He was interested in architectural works.

4. For the first ten years of his reign Aurangzeb generously rewarded his
musicians and appeared to be devoted to music.
Options:
54635039915 1
545350393916, 2
545350393917, 3
64535039313, 4

Question Number : 105 Question Id : 64635010140 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
45350395915 1

BdE35039516. 2
B4635039917. 3
54535039515, 4

Question Number : 106 Question Id : 64635010141 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Wheo was the founder of the Rishi silsilah in Kashmir?

1.  Sayyid Muhammad Hamdani
2. Sheikh Abdul Qadir

3. Sheikh Nuruddin

4. Bagi Billah

Options:

64535039919 1
4535039920 2
64535039921, 2
64535039922 4

Question Number : 106 Question Id : 64635010141 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Sinale Line Ouestion Option : No Obption Orientation : Vertical
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Options:

B4635039913. 1
64535039520, 2
64535039921, 3
645350393922, 4

Question Number : 107 Question Id : 64635010142 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Shah Jahan was the first Mughal emperor who introduced a new standard, namelv
mahi-maratib. It was considered the highest honour conferred on a person. Which of the
Indian rulers used to award this before Shah Jahan?

1. Arab rulers of Sind

2. Sulrans of Delhi

3. Surs of Delhi

4. Sultans of Malwa
Options:
E4535039922. 1
54535039924 2

646350395925, 3
54535039526, 4

Question Number : 107 Question 1d : 64635010142 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535039923, 1
54535039324, 2
B4E35039825. 3
B46350395926. 4

Question Number : 108 Question Id : 64635010143 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Who built the Sahibabad Garden in Shahjahanabad which was used as a serai for the 'repp
r.i.l:.]'.l.l‘.‘.il mt‘.‘fcjlants? Your Personal Exams Guide
1. NurJahan

2. Raushan Ara Begum

3. Jahan Ara Begum

4. Zinat-un Nisa
Options:
64535039327 1
64535039928 2

B46350395923. 3
64535039530, 4

Question Number : 108 Question Id : 64635010143 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B46350398927. 1
54535039528, 2
64535039923, 3
545350393320, 4

Question Number : 109 Question Id : 64635010144 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

“Bufism began to tum pantheistic only when the ideas of Ibn al-Arabi (d. 1240) began

to exert their influences, first, through the Persian poetry of Jalaluddhin Rumi (1207-

73) and Abdur Rahman Jami (1414-92) and then through the endeavours within India

of Ashraf Jahangir Semnani {early fifteenth century). About the same time that the

pantheism of Shankaracharva School of Vedanta was attaining increasing influence
within Brahmanical thought ™

From the following, identify the Mughal emperor who was the first to recognise the

thought?
1. Babur
2. Alkbar
3. Jahangir
4. Aurangjib
Options:

B4E35039521. 1
645350395932, 2
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Question Number : 109 Question Id : 64635010144 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B4535039531. 1
B46350395932. 2
645350395933, 3
54535039534, 4

Question Number : 110 Question Id : 64635010145 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
With regard to Gum Nanak which of the following statements is NOT comrect?

1. When Nanak was sixteen, his paremts armranged his marriage, later he
became a merchant and a farmer.

[

Bhai Mardana joined Guru Nanak and they became lifelong friends.

3. He travelled from Panipat to Assam wvisiting Hindu and Sufi pilgrim
Centres.

Options:

64535039935 1
64635039936 2
64635039937 2
64535039928 4

Question Number : 110 Question Id : 64635010145 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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84635039935, 1 prepp
64635039936, 2 o prrt i
64635039937, 3
54635039938, 4

Question Number : 111 Question Id : 64635010146 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements are comrect with regard to Sikhism?

(a) From the 17305 onwards the 5ikh dals and misals (groups) became more
and more powerful, led by individual chiefs (sardars) who organized troops
of increasingly professional mounted musketeers.

(b} There was the tradition of an annual “Sarbat Khalsa® at Chak Gura
(Ammntsar); but because of dissensions each chief tended to carve out a
separate territory for himself.

(¢) The process was at last checked by Ranjit Singh (1780-1839), who
established a kingdom in the Punjab in the name of the Khalsa,

(d}) The Gurus were all Khatris, but their principal lieutenants, the Masand were
mostly Jatts in the seventeenth century,

Choose the comrect answer from the options given below :
1. (a), (b) and (d)only
2. (b)), (c) and (d) only
3. (@) M) (d)
4. (c) and (d) only
Options:
4635039539 1
£4de35039040. 2
4535039841 2
4525039042 4

Question Number : 111 Question Id : 64635010146 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fora i 5 ey A Fefrfan A4 s dsm wi 2
(a) 1750 & & gus @ Fag oo o e (o) e srem et (@een) & Sga
d sftre & oifte wfdmadt &= mu e sl R oite & sinreg 8w
wntaa )

(b) TFTH( # ot ‘e @ & e et wur T s gas
#m%ﬁa@ﬁqmmﬁmmmml

(c) T Wi o g H Teia e (1780-1839) 3 I os, SR @RI F AH E
dATE | UF 0 1 /G #|

(d) =t 7% = 4 vig wEdl et § 99S Ardfa sl wee aftste: e di
R mEEd I TR I I

1. F99 (), (&) AR (D)

2. FEE (b), (c) AN (d)

3. (a) @) (c) (d)

4 FE (c), AR (d)



www.prepp.in

64635039939 1 rrepp
64635039940, 2 o ana ok
64635039941, 3
84635039942, 4

Question Number : 112 Question Id : 64635010147 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements is NOT comect?

1. Balutedars were expected to serve villagers whenever required in their
respective capacities.

L=}

Thev were paid the remuneration always in kind.

The were entitled to certain shares of offerings dedicated to village temples
and to some other perquisites on special occasions.

L)

4. The right to serve and the right to receive various remunerations of
permanent balutedars was recognised as their miras or watan,

Options:

64535039943 1
64635039944 2
64535039945 2
64535039946 4

Question Number : 112 Question Id : 64635010147 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535029943 1
64535039944 2
64635039945 2
64535039946, 4

Question Number : 113 Question 1d : 64635010148 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Read the following statement and select the answer from the options given below : 'rep
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“Sociologists have reported how castes could also change their status along with their
occupations under forms of Sanskritization.”

Who propounded the theory of Sanskritization?
1. Kal Marx
2. M. N. Srinivas
3. FRomila Thapar
4. Max Weber

Options:

64535039347 1
64535039948 2
64635039943 2
64635039350 4

Question Number : 113 Question Id : 64635010148 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350359947, 1
6453503939458, =
E4835039543. 3
E4635039550. 4

Sub-Section Number: 4
Sub-Section 1d: 646350483
Question Shuffling Allowed : Yes

Question Id : 64635010149 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (114 to 118)
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Fead the following passage and answer the guestions that follow : ' rep p
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Jahangir twice mentions a tower, tank and pavilion used as a hunting palace about 29 lm
from Lahore. Today the site is known as Shaikhupura, but Jahangir in 1606 refers to it as
Jahangirpura and then in 1620 calls it Jahangirabad, both meaning Citv of Jahangir, the latter
a more Persianate form. Here the emperor’s favourite tame antelope died before 1606; it was
buried in a grave above which a seulpted antelope and eulogy written by Mulla Muhammad
Husain of Kashmir were placed. Adjacent to this gravestone, a tower was constructed around
1606 under the supervision of Sikandar Muin Khan, the landholder of the area. On Jahangir's
orders, Sikandar Muin Khan alse built 2 tank and roval residence. Despite Muin’s death while
the wark was in progress, the complex was handsomely completed by 1620, the later stages
of construction having been supervised by Iradat Khan. The expenses incumred were
sufficiently awesome that the emperor recorded the amoumt in his memoirs. Jahangir
considered the site a ‘kingly hunting place’, although his successor found the place
inadequate and in 1634 spent another sizable sum rebuilding the pavilion.

Sub questions

Question Number : 114 Question Id : 64635010150 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which book does JTahangir rwice mention the tower, tank and pavilion?

1. Maasir-i Jahangiri

2. Tuzuk-i Jahangiri

LY ]

lgbalnama-i Jahangivi
4. Mgals-i Jahangii

Options:

E4E5350295851. 1

BdE35039552. 2

B46350395953. 3
54535039554, 4

Question Number : 115 Question Id : 64635010151 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following mentioned personalities was also ealled Shaikhu Baba?

1.  Prince Kamran

2. Emperor Humayun
3. Shaikh Salim Chishti
4. Emperor Jahangir

Options:

64535039955 1
64635039956 2
64535039957 2
4535039958 4

Question Number : 116 Question Id : 64635010152 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Both the names Jzhangipura and Jahangirabad camry same meaning, i.e., ‘City of 'repp
Jahangir’. From which language the word Pura is taken? Your Personal Exams Guide
1 Marathi
2. Urdu

3. Persian

4. Sanskat
Options:
B4535039359. 1
B4E35039960. 2
E4E5350298E61. 2
54535033962 4

Question Number : 117 Question Id : 64635010153 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following cities is situated Nim Sarai Minar® built dunng Akbar's

reign?
1. Pampat
2. Malda
3. Lahore
4. Mulran
Options:

B4635039563. 1
54535039564, 2
645350393965, 3
545350333966, 4

Question Number : 118 Question Id : 64635010154 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The plan of the Shaikhupura tower resembles to Hiran Minar built during Akbar's
reign. In which of the following cities is Hiran Minar situated?

1.  Fatehpur Siksi

2. Deelhi

3. Agn

4. Sikandara
Options:

64535039367, 1
54535033365, 2
B4E350395969. 3
B4635039570. 4

Question Id : 64635010149 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (114 to 118)
Cmestion Label - Comprehension
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Sub questions

Question Number : 114 Question Id : 64635010150 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. FEArOT-GaE
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Options:

B4535039551. 1
64535039852, 2
64535039353, 3
54535039354 4

Question Number : 115 Question Id : 64635010151 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. weETE Wi
Options:

54535039555, 1
54535039556, 2
645350339357, 2
54535039355, 4

Question Number : 116 Question Id : 64635010152 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical
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Options:

64535039353, 1
B4835039560. 2
B4635039561. 3
545350339562, 4

Question Number : 117 Question Id : 64635010153 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4225039962 1
4535039964 2
4535039965 3
4535039966, 4

Question Number : 118 Question 1d : 64635010154 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

54535039567, 1
64535039965, 2
54535039363, 3
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Sub-Section Number: 5
Sub-Section 1d: 646350484
Question Shuffling Allowed : Yes

Question Number : 119 Question Id : 64635010155 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

English position in India was improved by the ‘Golden Farman' granted to them in
1632 AD. Who granted this Farman to them?

1.  Jahangir, the Mughal emperor
2. Sultan of Golkonda

Sultan of Ahmednagar

Ll

4. Ruler of Bijapur
Options:
B4E35039971. 1
E4E350398972. 2
545350398972 2
545350395974 4

Question Number : 119 Question Id : 64635010155 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535039371, 1
E4535039372. 2
BdE35039573. 3
B46350395974. 4

Question Number : 120 Question Id : 64635010156 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When did Francois Caron establish First French Factory in India?

1. 1667 AD
2. 1669 AD
3. 1672 AD
4. 1674 AD

Options:
64535039975 1
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64635039977 3 prepp

64635D3"39?8 4 Your Personal Exams Guide

Question Number : 120 Question Id : 64635010156 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T iag $F 3 4G # Ugel Wiaid! taedl S | &  #17

1. 1667%
2. 166973
3. 1672%.
4 1674%
Options:

64535039375, 1
B4E35039876. 2
B4E35039877. 3
64535039575, 4

Question Number : 121 Question Id : 64635010157 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
With reference to official records, what were the “consultations™?

1. Al kinds of rransactions of English East India Company in Bengal
2. Allkinds of militarv records of the English East India Company.
3. PReporns of advisors to the Govemnors of Presidencies.
4.  Recordsrelated with education and judiciary.

Options:

B453503959739. 1

E4535039980. 2

64535039951 =2

E4E35023982. 4

Question Number : 121 Question Id : 64635010157 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TN Al & v § FHeTw | U
1. g i de dftm et & aam few & sRER|
2 oW Sfem et & amm e & e srfick
3. FeERE S T F 3T ameen & e
4. fingn oiR mmroaifée & wafia sficha)
Options:
546350399739 1
54635039980, 2

54535039581, 3
54535039582, 4

Question Number : 122 Question Id : 64635010158 Question Type: MCQO Option Shuffling: No Display Question Number : Y
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Correct Marks: 2 WrongMarks: 0 'rep

As a result of the Seven Years” War (1756=1753) in Europe, the French and English Your Personal Exams Guide
sertlements in India also became invelved in open hostilities. The work of Duplex and

Bussy in South was thus destroved in 176061, Which treaty provided the restoration

of the French possessions in India?

1.  Treaty of Pondicherry

[

Treaty of Wandiwash
3. Treaty of Pans
4. Treatv of London
Options:
B45350395953. 1
E4535039954. 2
64535039955 2
E4E350295956, 4

Question Number : 122 Question Id : 64635010158 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
# Hraadia O% (1756-1763) F HoRae HRd [ i o fa el & ¥ o

%’?mﬂmﬁr@ﬂmﬁg@aﬁ?gﬁﬁwﬁﬁaﬁ 1760-61 H TEE- 75w B fagr 7|
WA H Wi afrsaft & it &1 oage e wl & gan?

1. wifsaf st

2. difsamst g

3. dfmstd

4. TSl EY
Options:

B46350395983. 1
64535039584, 2
64535039985, 3
54535039956, 4

Question Number : 123 Question Id : 64635010159 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under which svstem or settlement, the Indian States lost their right to foreign affairs
and defense?

1. Doctrine of lapse

2. Subsidiary alliance svstem

Permanent settlement

Ly

4. Dwarchy system

Options:

64535039987 1
64535039988 2
64635039983 2
64535039930 4
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Question Number : 123 Question Id : 64635010159 Question Type: MCQ Option Shuffling : No Display QuesirlmppY
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tor g srum dEtae & HeliF YR e, g ST Ten Aree & o sifter |t @67

Your Personal Exams Guide

1. Taag

2. HEEe Sy vt

3. wdtEEEe
4. e womett
Options:

B4835039887. 1
B46350395988. 2
54535039583, 3
545350395350, 4

Question Number : 124 Question 1d : 64635010160 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

When did the phrase proclaiming the Govemnor-General to be ‘the servant of the
emperor was omitted from his official seal?

1. After the Government of India Act, 1838

(2]

After the Charter Act of 1833

Afterthe Charter Actof 1813

ek

4, AfterthePirt's India Act of 1784

Options:
645350393451 1

B4E3503959582. 2
B463503959393. 3
6453503959594, 4

Question Number : 124 Question Id : 64635010160 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TER-TE 1 T Fde HiF T TRy 9ifta R ardt Ay o W e § o R
febsa T ?

1. TgH=T M EfEm Uee, 1858 F AR H

2. 1BIBFIRUE FECH

3. 1835 TRIEFaed

4 1TFREitTmimFEEd

Obptions*
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64635039991, 1 prepp

545350395982, 2 Your Personal Exams Guid
545350395583, 3
64535039934 4

Question Number : 125 Question Id : 64635010161 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which treatv was concluded after First Anglo-Burmese War (1824-26)7

1.  Treaty of Arakan

[

Treaty of Tenasserim

Treaty of Rangoon

L

4. Treaty of Yandaboo
Options:
B4E350399395. 1
B46350399396. 2
54535039557, 3
645350399395, 4

Question Number : 125 Question 1d : 64635010161 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
s el o 9 (1824-26) F o FiA-f W gdr

1. semad

2. eamEfmfs

3. EeEf

4. dEmHE
Options:

645350399395, 1
B4E350395956. 2
B46350399397. 3
6453503959395, 4

Question Number : 126 Question Id : 64635010162 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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How did Brtain secure a title to rule India? Consider the following statements and 'repp
select the comrect code : Your Personal Exams Guide

(a) The dissolution of the Mughal empire and the cessions bv and the congquests
from the Marathas, the Sikhs and other territorial sovereigns from 1757 il
1857.

(b} Sovereignty in India invelved, under the British Constitutional Law and
under the ‘Law of Nations' as expounded in Europe, the authority of British
Parliament and the recognition of all civilized nations.

(c) The grant of Charter camied sovereign status to the East India Company,
and the weaties of Paris and Versailles and Congress of Vienna conveyed
intemational recognition to this status,

(d) After suppression of Revolt of 1837, Mughal Emperor transferred the
sovereignty to the Britain.

Code:

1. (a) and (b) only
(a), (b) and (c) only
3. (a), @), (c)and (d)
4. (a) and (d) only

b

Options:

64535039999 1
64635040000, 2
64635040001, 2
64525040002, 4

Question Number : 126 Question Id : 64635010162 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
29 3 WRg W TR 3 T iR 59 et e fPefates aegwl w e 5t el
wEFEH:

(2) 1757 & 1857 ¥ ENH e WA &1 faged iR e, frg oiv s de
Hwait g oo S It )

(b) fofem et Rl siv o o wfawfea of s Ty & ofi= wa & Iy
# fafem g &1 witeR oiR w2 wa Ty 21 A i o

(0) aﬁmﬁmaﬁ%ﬁﬁéﬁmﬁnﬁaﬁﬂﬁ;ﬂmaﬁfﬁmmﬂh&h
FEfen @t wt R S0 off fgm 3 50 o =t sferiyfta wroa difte 2

(d) 1857 FREME T o7 F &Te. 77T Wewe 1 f6= 31 Smm swraia 21

i
1. FE () @R ()
2. F (), (b) MW (c)
3 (@) () (0) AR ()
4 T () WD
Options:

645350399393, 1
54535040000, 2
64535040001, 2
54535040002, 4

Question Number : 127 Question Id : 64635010163 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WronaMarks: O
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Mitch List=T with List=11 - prepp
List—I List—II

{Authors) {Books)
(a) Vera Anstey i)  Economic Development of India
(b) B.M. Bhatia (i) Famines in India
(c) D.H.Buchanan (iii) The Development of Capitalist

Enterprise in India

(d) D.R.Gadgil (iv)  Industrial Evolution in India

Choose the correct option from those given below :
Lo (i) ()i (i) (d)iv)
2. (arQ); (b)-Gi); (c)-Gid), (d-Gv)
(@)Hv); ()i (-0 (d)i)

Lad

4. (@) ) (e-0v); (di-iin)

Options:

645350400032, 1
64535040004 2
64635040005 2
64635040006, 4

Question Number : 127 Question Id : 64635010163 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T %1 -1 & wru gk #ifv:

T I
() (%)
(2) TTE ()  FEHIHE STagHe HiE i
() i m wifem Gi) g g Efem
(c) FETERET (i) 3 ZeHe T Sfiefre
evwgw 54 3
(d) B R mEhm Gv) Sefecaa wdieges & §fEm
% fan 7o e F @ ot oo @1 9 e -

L (a)(id); m)=(i), (e)=); (d)-{v)
(a1 (), (e)Gi); (d)iv)

bt

3. (ariv) ()i (e)-a) (d)-Gii)
4 (ad); (G (e)-0v); (d)ii)
Options:
E4E350400032 1
E4E35040004 2
E4e25040005 2
E4E35040006 4

Question Number : 128 Question Id : 64635010164 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Restoration of Mysore to its old mling family was a2 unique thing in the history of 'rep
British India. Wheo did it7 Your Personal Exams Guide

1. Lord Canning

b

Marquess of Ripon
3. Marquess of Lansdowne
4. Dufferin
Options:
B4535040007. 1
64635040008, 2
E4E25040003, 2
546235040010 4

Question Number : 128 Question Id : 64635010164 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fafem wa & sfaere 7 A7 &1 99 W W9 UIaR &1 a9 S0 @41 0% s gen
dh o fosert sfoma Rean?

1. @iEHEm
2. Wt i o
3. Al sie dasreH
4. BHHE
Options:

B4635040007. 1
E4635040008. 2
64535040003, 3
54535040010, 4

Question Number : 129 Question 1d : 64635010165 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following opposed the appointment of Muthuswamy Iver to the Madras
High Court on the grounds that native officials should not draw the same rate of pay as
Europeans in similar circumstances?

1. The Hindu
2. Amrita Bazar Patmika
3. The Tnbune

4. Madras Mail
Options:
545235040011 1
64535040012 2
64535040013 3
64635040014 4

Question Number : 129 Question Id : 64635010165 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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e 39 A | mmamﬁﬁmﬂﬁwmmﬂ frep
foem o e 2o arfrertdt 71 59 # i g it & wae i T8 Your Personal Exams Guide
T anfEee?

1. wfeg

2. AT S

3. afEm

4 WEEA
Options:

64535040011, 1
54535040012, Z
B4E35040013. 3
B4635040014. 4

Question Number : 130 Question Id : 64635010166 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following wrote that Congress was bom through a conspiracy to
forestall a popular uprising in India and the bourgeois leaders were a partv to 1t?

1. E.P Dut
2. E.C.Dutt
3. 1P Naravan

4. B G.Tilak

Options:
64535040015 1

B4E35040016. 2
B4635040017. 3
64535040015, 4

Question Number : 130 Question Id : 64635010166 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T o o v 5 sl o o9 0 WA & aea gen 1 o S wT wRa HUe
T FEIHR F U5 § % R daftar o sad i 47

1. amdEw

2. aRWEa

3. o9 T
4. # 5 fee

Options:

64535040015 1
64635040016, 2
64635040017 2
64535040018 4

Question Number : 131 Question Id : 64635010167 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which one of the following measures was NOT adopted by Lord Curzon? ' rep

Your Personal Exams Guide

1. The Caleutra Municipal Amendment Act
2. Indian Universities Act
3. Indian Officials Secrets Amendment Act

4. Vemaeular Press Aect
Options:
54535040019 1
24235040020, 2
5435040021 2
64535040022 4

Question Number : 131 Question Id : 64635010167 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
PrefafaE # 3 2.9 e o s T 78 gorm a7

1. & S e tisHe i

2. it ofefifeats
3. EfEme sifitsfames Hiees et U
4. TR UE Use

Options:

B4535040013. 1
B4635040020. 2
64635040021, 3
64535040022, 4

Question Number : 132 Question 1d : 64635010168 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

DLu'ing which of the fu]lqwing movements, several new techniqueés like passive
resistance, bovcott and other effective methods of mass protest were evolved and
expenmented?

1. AntBengal Partition Movement
2. Champaran Movement
3. Khera Satvagraha
4. EKhilafat Movement
Options:
64535040023, 1
E4E350400:24 2

54535040025, 3
B4635040026. 4

Question Number : 132 Question Id : 64635010168 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Frafofam & 3 fog sidom ¥ < game, sfeer ok o9 -fly & =8 s Fer dne frep
i@l &1 @ R W gan? Your Personal Exams Guide
1. g fdd sides
2. HURW SiERE
3. AT
4. Tawres sidee
Options:

64535040023, 1
54535040024, Z
B4E35040025. 3
B4635040026. 4

Question Number : 133 Question Id : 64635010169 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following pledged lovalty to the British and joined hands for the
implementation of the provisions of the Montagu-Chelmsford Act? It merged with the
Congress in the late 19305 and in the process broadened the base of national movement.

1. The Satvashodhak Samaj

2. The Justice Party

3. Dravida Eazhagam

4. Non-Brahmin Association
Options:
E4E35040027 1
B4E35040028. 2
64535040029 3
E4E35040030. 4

Question Number : 133 Question Id : 64635010169 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frmforfa 4 & fee wieg. 3w fufion & wauE! i an sue & fi sfiel &1 ay
feran afi 3= wfer fEn &t ¥wwm $17 1930 S0 $ IUUS § FHET HI0E § fae g,

foredl T afiEier #1 31U STaE g
1. SOwiYS ge
2. Zufewud
3. s
4, IR-FEUIHY
Options:

64535040027, 1
E4535040025. Z
B4635040023. 3
54535040030, 4

Question Number : 134 Question Id : 64635010170 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which of the following parties was set up by Muzzaffar Ahmad, in collaboration with 'rep
Kazi Nazrul Islam in 19257 Your Personal Exams Guide

1.  Labour Swaraj Party
2. Workers and Peasants Party
3. The Swaraj Party
4.  All India Trade Union Congress
Options:
64535040021, 1
E4E35040032 2
546235040032 2
B4635040034 4

Question Number : 134 Question Id : 64635010170 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT SEAE 4 1925 H ®el Auea g & aiy e fee wd # v 2

1. O wR el

2. oFd s Uelew Wel

3. wREwE
Options:

54535040031, 1
B4E35040032. 2
B4635040023. 3
54535040034, 4

Question Number : 135 Question 1d : 64635010171 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following pairs is NOT correctly matehed?

A B
(Association) (Associated)
1.  Bharat Stree Mahamandal (i)  Sarla Devi Chaudhurani
2. Women's Indian Association (i) Tivva

3 The National Council of Women (iiiy Lady Mehribai Tata

4. All India Women's Conference (iv)  Margaret Cousins

Options:

64535040035 1
645350400326, 2
64535040027 2
64535040028, 4

Question Number : 135 Question Id : 64635010171 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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P o & w.a g ol v gk e 22 prep
A B
(Hm) (H55)
1. R i ey () e od SR
2. 4w 35T veifaeee Gy Frem
3. e Srdfee e T (i) oS A
4. 3ffa sfem dide sy (iv) He Shaw
Options:

64535040035, 1
64535040036, 2
64535040037, 2
B4E35040035. 4

Question Number : 136 Question Id : 64635010172 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which year Gandhiji left Sabarmari Ashram (Ahmedabad) and tock a pledge to
return back only after the attainment of Swaraj?

1. 1933
2. 132
3, 1930
4. 1929
Options:

B4635040023. 1
64535040040, 2
54535040041, 3
64535040042, 4

Question Number : 136 Question Id : 64635010172 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tt 3 forw o wraTmdt sam (SrpHETETE) BTST HIT W Wi & a5 ded #1 g ey

1. 1933
2. 1922
3. 1930
4. 1929
Options:

B4635040023. 1
64535040040, 2
54535040041, 3
64535040042, 4

Question Number : 137 Question 1d : 64635010173 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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From which of the following places did Subhash Chandra Bose 1ssued his famous call, 'rep
‘Delli Chalo™? Your Personal Exams Guide
1. Russia

2. Germany

3. ltaly
4. Singapere
Options:

54535040043, 1
Ede35040044, 2
B4635040045. 3
54535040046, 4

Question Number : 137 Question Id : 64635010173 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frofefae o 4 e e 8 gum o 99 3 el e &1 so ofss s e

1. w4

2. ot

3. et

4. o
Options:

64535040043, 1
64535040044, =
54535040045, 3
E4E35040046. 4

Question Number : 138 Question Id : 64635010174 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

With 393 Articles and 12 Schedules the Constitution of India was framed during which
period?

1.  December 1946 and December 1949
2. December 1945 and January 1950
3. August 1947 and January 1950

4.  December 1946 and January 1950

Options:

64525040047 1
E453504004% 2
64535040043, 2
64535040050, 4

Question Number : 138 Question Id : 64635010174 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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395 Hgmie ST 12 SFTEfaE aren yRa @1 S e safy & g dar faso mne "f(;‘)‘)
1. fawEw 1946 3R fawig 1949 e
2. fewEw 1945 SR w1950
3. 3T 1947 AN SEEE 1950
4. fewEe 1946 AR FEH 1950

Options:

64535040047 1
64635040048, 2
64635040043 2
64525040050, 4

Question Number : 139 Question Id : 64635010175 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Wheo was the Nizam of Hyderabad during 1946477

1. Najm-ud-daula
2.  Kasim Razvi

3. Mir Osman Ali
4. Mir Vilayar Ali

Options:

4525040051, 1
64535040052, 2
64635040052 2
64535040054 4

Question Number : 139 Question Id : 64635010175 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

194647 & TN BaUaIG &1 Fad 4 u1?
1.  FoH.9g-grm
2. wifem fro
3. dRIEE et
4 iR Remm ol
Options:

54535040051, 1
64535040052, 2
64535040053, 2
54535040054, 4

Question Number : 140 Question Id : 64635010176 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Given below are two statements—one labelled as Assertion (A) and the other labelled 'repp
as Reason (R) Your Personal Exams Guide

Assertion (A) :  The gradual industrialization of India not only brought the capitalists

into the foreground of public life, it also created an industrial working
class.

Reason (R) : Unlike the European situation, in India there was no random or open
recruitment from among a proletananized peasantry, recruitment was
usually made through jobless.

In the context of the above two statements, which of the following is correct?
1. Both(A) and (R) are true and (R) is the comrect explanation of (A).
2. Both({A) and () are true, but (R} is not the comrect explanation of (A).
3. (A)is rue but (B) is false.

4. (A)is false but (R)is true.

Options:

64535040055 1
64535040056, 2
64635040057 2
64635040058, 4

Question Number : 140 Question Id : 64635010176 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
i gt Fu ey o & = 1 sl (A) o9 T £ SR gE 91 S (R) SR IR

@A (A) @ WA & Fiae Sgnie A 7 e (iufadl $1 aeee Wi &
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Fel vl 78 g5, 75+l SRR W e F S A g

THF el e ded AP A I w87
1. (A) 3R (R) 9o & oin (A) 3 w8 = (R) B

[E¥]

(A) 3R (R) <1 961 § T2 (A) 31 581 ara (R) 781 &

=

(A) &8 & 7g (R) Tea 21

4. (A)TEE R W (R) W B
Options:
64635040055, 1
54535040058, 2
54635040057, 3
4835040058, 4

Question Number : 141 Question Id : 64635010177 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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The debate as to whether the Indian economy under the British rule was characterised 'rep

bv growth or stagnation or progressive impovenshment has not vet come to an end. Your Personal Exams Guide
What is the major reason for the inconclusive character of the debate?

1. Qualitative evidence is interpreted in various ways,
2. Inadequacy of the relevant quantitative data.
3.  ldeological preferences of the particular writer.

4. Colonial character of the Indian economy.

Options:

64535040053, 1
64535040060, 2
64535040081, 2
64535040062, 4

Question Number : 141 Question Id : 64635010177 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

79 @5d &1 ot ofF A gon & & afew wra & oreflm wdtg snfememn & sifimem
famra o iy u a1 S Wi wgt & 5@ asa & sfie sfe s s wm e 7

1. TS wed @ fafdy ver & sren # et 2
2. G (o sied et #
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Options:

64535040059, 1
64635040080, 2
645325040061, 2
4535040082, 4

Question Number : 142 Question Id : 64635010178 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Canning-Lawrence School, Mill School and Mave-Northbrook School were related
with which administrative controversy?T

1. Enacrmentregarding social reforms.

b

Implementation, continuation and extension of Permanent Settlement.
3.  Introduction of Mahalwari Settlement in the new regions.
4. Adoption of liberal attitude towards India after Revalt of 1857,

Options:

E4E35040063. 1

64535040064 2

2435040085, 2

54535040066 4

Question Number : 142 Question Id : 64635010178 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535040063 1

645325040064 2

54535040085, 3
B4E35040066. 4

Question Number : 143 Question Id : 64635010179 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following were the main areas where systematic state initiative was
visible in the 19 century?

1.  Mathematics, Physics, Chemistry

2. Maps and Surveys, Botany, Geology, Medicine
3.  Theology, Literature, Mathematics

4, Fine Arts, Linguistics, Theatre

Options:

64535040067 1
64635040068, 2
64635040063 2
64635040070, 4

Question Number : 143 Question Id : 64635010179 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535040067 1
64535040068, 2
64635040063 2
64635040070, 4

Question Number : 144 Question 1d : 64635010180 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



www.prepp.in

Which of the following is NOT true? ' rep p

1. Beforethe 1837 Rebellion, personal relations between resident Englishmen
and Indians in Delhi and Lucknow had been fairly friendly.

2. Inpre-1857, Delhi Europeans had lived mostly within the walled city in
houses rented from Indians.

3. After 1837 Indians were dnven out of Delhi and Luclnow.

4.  Bntish gamson was moved outside of the walled city of Shahjahanabad in
the aftermath of 1857,

Options:

64535040071, 1
64635040072 2
645325040073 2
64535040074 4

Question Number : 144 Question Id : 64635010180 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645325040071, 1
64535040072 2
64635040072 2
64535040074 4

Question Number : 145 Question Id : 64635010181 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which wvear the Dramatic Performances Act was passed which imposed rigorous state
control over performances on the public stage?

1. 1888
2. 189
3. 187
4. 1898
Options:

B4635040075. 1
64535040076, 2
64535040077, 3
54535040073, 4

Question Number : 145 Question Id : 64635010181 Question Type: MCQ Option Shuffling : No Display Question Number : Y
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Correct Marks: 2 Wrong Marks: 0 'rep
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1. 1888
2. 18%6
3. 1876
4. 1898
Options:

B4E35040075. 1
B4635040076. 2
54535040077, 3
54535040075, 4

Question Number : 146 Question 1d : 64635010182 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Whe among the following brought the concept of motion pictures to India?

1. Colorells and Comaglia
2. Hiralal Sen
3. Louis and Auguste Lumiere
4.  Dada Saheb Phalke

Options:

B4E35040073. 1

64535040030, 2

E4E35040081. 3
E4635040082. 4

Question Number : 146 Question Id : 64635010182 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
774 9 fFea wRa A SafiE! S smuron &1 v S
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3. TR AR offe e
4. CETEEE Fles
Options:
54535040073, 1
54535040080, 2

B4E35040081. 3
E4635040082. 4

Question Number : 147 Question Id : 64635010183 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which one of the following is NOT comectly matched? ' rep p
1. The Hindu : G, Subramaniam Aivar

2. Amrita Barar Patrika : Motilal Ghosh

3.  Bengali :  Surendranath Banerjee
4.  Sudharak : M.N.Sen
Options:

B4635040083. 1
54535040084, Z
64535040085, 3
54535040056, 4

Question Number : 147 Question Id : 64635010183 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fpfafe § & 7o wé wu § ghfta T &7
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Options:

B4E35040053. 1
E4635040084. 2
64535040085, 3
64535040056, 4

Question Number : 148 Question 1d : 64635010184 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List-II :

List=I List=II
(Aszociation) (Founder)
{a) The Satva Mahima Dharam (i}  Pt. Shiv Naravan Agnihotn

of Orssa

(b) The Swami Naravan Sampradaya (i) Mahima Gosain

of Gujarat
() The Paramhansa Mandali (iii) Sahajanand Swami
(d) Dev Samaj (Divine Society) (iv) Dadoba Pandurang

Choose the correct option from those given below -
1. (aHi); i), (-(v); (dHE)
2 (@rGi); ®rGv); (-G d-0)
3. (aHv): (o)D) (i) (d)ii)
4. () @), (eH); (d-iv)

Options:
EdE2E5040087. 1
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64635040088 2 prepp
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64635040030, 4

Question Number : 148 Question 1d : 64635010184 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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L (@) (b)) (c-iv) (d-E)
2. (aH) (bGvy (e (a0
3. (@rv) ()G (-0 i)
4. (@H0) )G (i) (d-iv)

Options:

E4e25040087. 1

E4E2E040088. 2

E4635040083. 3
54535040030, 4

Question Number : 149 Question Id : 64635010185 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Whe ameong the following was NOT associated with the Faraizi Movement?
1. Haz Sharatullsh
2. Tim Mian

3. Dudu Mian
4. Naya Mian

Options:

64535040091, 1
64535040032 2
64535040032 2
64535040094, 4

Question Number : 149 Question Id : 64635010185 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. SRl
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Options:

64535040031, 1
645350400382, 2
64535040033, 2
54535040034, 4

Question Number : 150 Question Id : 64635010186 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who was the first scholar who called Indian societv deaf and dumb and stagnant?

1. Karl Mamx

2. Marc Bloch

3. A_L Basham

4 G.W.F Hegel

Options:

645350400395 1
64525040096, 2
64535040097 2
64535040098, 4

Question Number : 150 Question Id : 64635010186 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64z350400385 1

B4635040036. 2
545350400387, 3



